UGC NET 2021 Library N Information Science

Topic:- LIS_SHAAN_NOV21A

1) According to Copyright (Amendment) Act, 2012, in case of Photographs, the term of copyright is revised to

gfeiferenfirer (Ilonerwon) sifeforpr, 2012 @ gRIR BICIPIE @ AR A gfiafereniiier safer o Honfera e srm 3 -

[Question ID = 1][Question Description = S2_qSNz_PG_LIS_QO01]
10 years/10 adf [Option ID = 1]

20 years/20 ad [Option ID = 2]

Omitted/clu fdsen srir [Option ID = 3]

60 years/60 ad [Option ID = 4]

A W N -

Correct Answer :-

o 10 years/10 ad [Option ID = 1]

2) According to the UGCC (Promotion of Academic Integrity and Prevention of Plagiarism in Higher Educational Institutions)
Regulation, 2018, if any person suspects plagiarism in any document, who should s/he report it to?

g it Al (srprcidid Acaforsor Haelol siiz e 181 el i AMfde iRkl dI Aaend) faformeror, 2018 @ sreRIR Al ol caftp @I fovidl
SFArdst 3 MAfdea dih @I ASs 3 dl a6 el fdrpRIa @ / @it ?

[Question ID = 2][Question Description = S2_qSNz_PG_LIS_Q02]

1. IAIP ( Institutional Academic Integrity Panel )/smsuamstl (JrersR sipleihie Araforat dorer) [Option ID = 5]
2. DAIP ( Departmental Academic Integrity Panel )/Stearstt )fsmsfin siprefiia Jciforst deter) [Option ID = 6]
3. HHEI ( Head of the Higher Education Institution )/vauagsns (3<a f1sn et @ ygRa) [Option ID = 7]

4. UGC ( University Grants Commission )/2fift (faeafdencrr sigjcrot siriler) [Option ID = 8]

Correct Answer :-

e |AIP ( Institutional Academic Integrity Panel )/3msusistl (3zensmor sibiciia Aciforat otet) [Option ID = 5]

3) Under the RTI Act, 2005, which person cannot submit a complaint to the Central Information Commission or State
Information Commission, as the case may be?

ol I PR iferforia, 2005 @ siaeia forafciRaa 31 A Dlol AT XKD Dogla TG ARIIBI AT ASA 6l ARIEI, SIAl Rerfer 81, @ et
formRrRIa oot o1él w2 Awar ?

[Question ID = 3][Question Description = S2_qSNz_PG_LIS_QO03]
1. Who has been refused access to any information related under this act. /R 1 siféiforer @ sidefa fipft eI ol Sot A o B2 = srRI 3

[Option ID = 9]

2. Who has been required to pay an amount of fee which s/he considers unreasonable. /feRt g bt 2fSr @ goTeret BT 3o foparr srw & 516 a8 srfBd
ol 3 / Iorctt &
[Option ID = 10]

3. Who approaches directly to CIS or SIC without approaching CPIO or SPIO as the case may be. /Gt 2fidfisngait = vandisngait, Skt sft Berfer 21, 3 2iuas Fenfua fevw
ot Mt = v 3 M JAud B

[Option ID = 11]
4. Who believes that s/he has been given incomplete, misleading or false information under this Act./das Ifth Sit #elr & / el 3 {5 368 3yuf, 9EID &
SICT 2ol &l 31 3

[Option ID = 12]

Correct Answer :-
o Who has been refused access to any information related under this act./fSies s sifeiforiar @ sideia fopft Jsra et Sot 3 ol B2 f&=1r sRI 3
[Option ID = 9]

4) “"Edanz", a journal suggester service is associated with which leading publisher?

‘'g3oul” v ufeyent 4 Adr, forefiRaa d A s el ymrers A FHdfia 3 ?

[Questlon ID = 4][Question Description = S2_qSNz_PG_LIS_Q04]
Elsevier/uvcifd=r [Option ID = 13]

. Sage/3st [Option ID = 14]

. Springer/Rysrz [Option ID = 15]

. Wiley/arser [Option ID = 16]

AL\JN—‘



Correct Answer :-
® Elsevier/vsifdRr [Option ID = 13]

5) In UNESCO's conceptual model of Media Information Literacy (MIL), 2013, which one of the following circle represents:

"The information resources and the means by which information is communicated...”

IolFpl I fHfSAT Jeroll ASRAT D IrqeRvIIcAD Yferadrel , 2013 3 forgsiferRaa 3 3 dlol -1 Ad5el 33 YPR forsitd 2r 3 ''d el
JAATErST den Arerel RBoid GRI Y6l BT JAR BN 3 ......

[Question ID = 5][Question Description = S2_qSNz_PG_LIS_QO05]
1. Centre circle/3fez e [Option ID = 17]

2. The Second Circle from the Centre/a@g 3 g 3@t [Option ID = 18]

3. The Third Circle from the Centre/dg 3 dierr Jiawer [Option ID = 19]

4. The Final Circle/sifewt 3raser [Option ID = 20]

Correct Answer :-
e Centre circle/3iez Jwet [Option ID = 17]

6) Which one of the following digital collections is not provided by the Library of Congress?

forgoiterRaa 3 3 fova RfSiea Hojg @1 a3l 3l Biv)A GRI YoId ofél fopar sirar & ?

[Question ID = 6][Question Description = S2_qSNz_PG_LIS_QO06]
1. Chronicling America/afforefeior siaf¥ar [Option ID = 21]
2. Treasures in Full/gsri set wet [Option ID = 22]

3. Stereograph Cards/>df¥isjiw wrgf [Option ID = 23]
4. Civil War Glass Negatives and Related Prints/Rifder ar et foplieet vs Reies fiscat [Option ID = 24]

Correct Answer :-

e Chronicling America/@jformfeier s@ifsemr [Option ID = 21]

7) Which one of the following acts as a Nodal Agency for ‘National Mission on Libraries’ (NML) for administrative, logistics,
planning and budgeting purposes?

forratferRaa & A ®lel 'YerRiford, MR €, RISl AR TEIERI YISell 3 ASERI YIADIcr] 319561 (Tel T uel) @ feru oiisa wolil @ 3u d
PRI B 3 ?

[Question ID = 7][Question Description = S2_qSNz_PG_LIS_QO07]
1. National Library of India/sieiler I geamier
[Option ID = 25]
2. Delhi Public Library/fccft uféctas emsqt
[Option ID = 26]
3. RRRLF/3IR 3R 3R vel i

[Option ID = 27]
4. NISCAIR/wot 31 vt 3 © 38 3R

[Option ID = 28]

Correct Answer :-
e National Library of India/ s arecir geamicrn

[Option ID = 25]

8) According to UNESCO, what is the slogan for the World Book and Copyright Day 2020 observed globally?

IolFpl D AR fdra g sk yfafereniiror 8ar1, 2020 Sit g3 faea 3 F6IR SRI, ®I 6IRT @RI 3 ?

[Question ID = 8][Question Description = S2_qSNz_PG_LIS_Q08]

1. Improve the Reading Habit/user &1 sea 3 e @3 [Option ID = 29]

2. Books : A Window into the World during COVID-19/gzad : @ifds - 19 & gl fara @t 3¥aet @1 sRar [Option ID = 30]
3. Books are for Use/gzad 3wt @ ferw & [Option ID = 31]

4. Globalisation of Reading Material during COVID-19/®lfes - 19 @ ol ool Awis] @1 dxdiaur [Option ID = 32]

Correct Answer :-

e Improve the Reading Habit/uoetr &I smea 3 e @2 [Option ID = 29]

9) Who devised the "Role Based Model of Digital Reference" ?
"f3fercer 3w & yfdrpt snenfya wsa’’ @ yferuce @ler 3 ?

[Question ID = 9][Question Description = S2_qSNz_PG_LIS_Q09]



R. D. Lankers/3m.gl. ¢a=1 [Option ID = 33]
J. M. Wasik/3t. wat. ai¥re [Option ID = 34]
M McClennen/wa. diceiotet [Option ID = 35]
G. G. Chowdhury and S. Chowdhury/sft. Sft. diest vd w2t diest [Option ID = 36]

A WN -

Correct Answer :-
e R. D. Lankers/3m.st. a1 [Option ID = 33]

10) Indian Standard 'IS 1553:1989" is related to:

ICART AroTed 1 '3m$ vA 1553 : 1989’ fdperd dfea & ?

[Question ID = 10][Question Description = S2_qSNz_PG_LIS_Q10]
Design of library furniture/gsamrcrt wollaz &t f&smser [Option ID = 37]

Design of library building/gzamrcrr saet @1 fSsmser [Option ID = 38]

Design of library van/gzaamricrr dot @1 fomser [Option ID = 39]

Design of administrative buildings/yemrifors sraeil @1 f$siser [Option ID = 40]

A W N -

Correct Answer :-
e Design of library furniture/geamrcr! wollar &t Ssmser [Option ID = 37]

11) Who was the Chief Editor of 'Webster's Third New International Dictionary of the English Language: Unabridged'?

forgatferiRaa 3 A Plel dared U3 o3 $col9relel Faoerl 3ifw &1 $Be9r ciadst fivig & #= Auce A7

[Question ID = 11][Question Description = S2_qSNz_PG_LIS_Q11]
1. M. R. Gould/war3m. sm3es [Option ID = 41]

2. Philip Babcock Gove/fisfera daare sird [Option ID = 42]

3. Edmund Herry/usd#s 38 [Option ID = 43]

4. Michael Gorman/smsaser sirzdial [Option ID = 44]

Correct Answer :-
e M. R. Gould/wa3R. smses [Option ID = 41]

12) Who was the founder of Project Gutenberg?

ufRIlStell seelept @ FHFATUD Bl A ?

[Question ID = 12][Question Description = S2_qSNz_PG_LIS_Q12]
1. Michael Hart/smsoa aié
[Option ID = 45]
2. M. Gutenberg /. sjcorast
[Option ID = 46]
3. Joan M. Reitz/shsmor va. st

[Option ID = 47]
4. Edmund Herry/vssis 88t

[Option ID = 48]

Correct Answer :-
e Michael Hart/sms@et aié
[Option ID = 45]

13) Who among the following called "Reference Service" as a "personal intercourse between librarians and readers"?

forgaiferRaa 3t 21 foptor "3ice Jar” @I 'gramrcrmesll AR uodl @ dia waftberd darg” @er 8 ?

[Question ID = 13][Question Description = S2_qSNz_PG_LIS_Q13]
1. S. R. Ranganathan/wat3iR. 3smemerst [Option ID = 49]

2. William A. Katz/faférmr u. @it [Option ID = 50]

3. Samuel Swett Green/3igsiet 3dc sffer [Option ID = 51]

4. Melvil Dewey/drefder sidt [Option ID = 52]

Correct Answer :-

e S. R. Ranganathan/w3L3IR. Isteteret [Option ID = 49]

14) Who said, "a number of basic human needs can be identified from the social and psychological functions of the mass
media"?



s Dol [pAm1 3 ? "'HArerd bl gforndl sravaadrsii bl 3w bl usdrel Stel AAR D AR 3R Aolldsiicre BRrIf A s S Adddl &

[Question ID = 14][Question Description = S2_qSNz_PG_LIS_Q14]
1. William Katz and Bill Katz/fafermer orest iz faer arest

[Option ID = 53]
2. M. Sandelowski and H. Haas/wa1. 3iSciiaedt 3l va. Rt

[Option ID = 54]
3. E. Katz, M. Gurevitch and H. Haas/$. @I, wat. spRfia &l va. arRt

[Option ID = 55]
4. Sull H. Lee and Celia Hales Mabry /et va.cfl. 3iiz Afes 3ca1 At

[Option ID = 56]

Correct Answer :-
o William Katz and Bill Katz/fafermer orest sk et orest

[Option ID = 53]
15) Mobile App, "BARD" is meant for people with :
Hiarsel oy 'a$ (iesnRsSt)’ fperds fére aon 3 ?

[Question ID = 15][Question Description = S2_qSNz_PG_LIS_Q15]
1. Visual Impairment/efte aiféra [Option ID = 57]

2. Hearing Impairment/gyavr anféra [Option ID = 58]

3. Speech and Language Disability/ara siiz smmur sierbear [Option ID = 59]

4. Mental Illness/#meiRs damst [Option ID = 60]

Correct Answer :-
e Visual Impairment/eftc aiféra [Option ID = 57]

16) "Reference and User Services Association” is a division of:

IB3IA TS Iori AfdRI wAlReret f[prmT gaet 8 7

[Question ID = 16][Question Description = S2_qSNz_PG_LIS_Q16]

1. Association for Information Science and Technology/u:iliReolel Biz Swiole! AEA Bs edaileioll [Option ID = 61]
2. American Library Association/sm@if¥@et cirsg3l viiRmoret [Option ID = 62]

3. Medical Library Association/dfSaet emsg3t wailifRmotet [Option ID = 63]

4. Society of American Archivists/2iRirIct sitw s@if¥aor siplsfarezt [Option ID = 64]

Correct Answer :-
® Association for Information Science and Technology/wiif¥eornT Biz swElorw ASA TS dailcsit [Option ID = 61]

17) According to S. R. Ranganathan, "Spot Subject” is a

[Question ID = 17][Question Description = S2_qSNz_PG_LIS_Q17]

Subject formed by coupling two or more subjects/al =i a1 3 3ifeid fawRil @1 Bietap? doiren srn fawer [Option ID = 65]
Subject of great extension and enormous intention/fwRI, SRI®! wIu® fFaR al sl 389a ggd fdegaal [Option ID = 66]
Subject of small extension and great intention/frer fSrimT fdear @ 2t sz 339w #iaret a1 [Option ID = 67]

Subject of great extension and small intention/frwer SR e fdzar @t siie 389 e 8t [Option ID = 68]

A WN -

Correct Answer :-
e Subject formed by coupling two or more subjects/ar r a1 3 siférs farril ol ftei: Jorrn srn fawrr [Option ID = 65]

18) "The structure of a classification system on the basis of materials to be classified rather than on purely theoretical
considerations” is known as:

"guia: Agifere Rl & asirr geiia:ur & Sirel arcll AREH @ 3MER U geiiaur Yurreil &l e ®f dal Sidar 8 -
[Question ID = 18][Question Description = S2_qSNz_PG_LIS_Q18]

. Literature Search/zufa=r it [Option ID = 69]

. Taxonomy/asfifeur fesirer (Ea=ilsiistt) [Option ID = 70]

. Literal mnemonics/onfdge v Sotes / F91v1 e [Option ID = 71]
. Literary warrant/fwezdt are [Option ID = 72]

A w N =

Correct Answer :-
e Literature Search/nfdcx xdrst [Option ID = 69]

19) Which of the following is not a high-level class or entity in the BIBFRAME model?



forgotferRaa 3 3 Diol fyaBaHATST 3 ITa Faz Yuit = zrar o1él 3 ?

[Question ID = 19][Question Description = S2_qSNz_PG_LIS_Q19]
BIBFRAME Work /R sraas [Option ID = 73]

BIBFRAME Instance/faaw aisorea [Option ID = 74]

BIBFRAME Item/fraw samsear [Option ID = 75]

BIBFRAME Title/fmaw arerseet [Option ID = 76]

A w N =

Correct Answer :-
e BIBFRAME Work/Rewara® [Option ID = 73]

20) Who gave the concept of ‘Mental Revolution'?
‘Ao wifer'dl sraemon et & ?

[Question ID = 20][Question Description = S2_qSNz_PG_LIS_Q20]

1. Henry Fayol/3er3t weiler

[Option ID = 77]
2. Peter F. Drucker/dlez uw. 5o

[Option ID = 78]
3. F. W. Taylor/vw.sesc=] eeR

[Option ID = 79]
4. Philip Crosby/fibfera @fardt

[Option ID = 80]
Correct Answer :-
e Henry Fayol/goB! weiler
[Option ID = 77]

21) Who authored the book Practice of Management?
' §fRrea sife JolsEie AIRIP Yadd @ ORad Pl 3 :

[Question ID = 21][Question Description = S2_qSNz_PG_LIS_Q21]
1. Peter Drucker/diez g2

[Option ID = 81]
2. Henry Mintzberg/goB! Bicstast

[Option ID = 82]
3. Henry Fayol/2o13t weitet

[Option ID = 83]
4. Frederick Taylor/wf@mec

[Option ID = 84]

Correct Answer :-
e Peter Drucker/dies sm2
[Option ID = 81]

22) Which among the following is NOT a 'Process Theory' of motivation?

forotfiifiaa # A Yot afideon o ' gl Bigia o 3 ?

[Question ID = 22][Question Description = S2_qSNz_PG_LIS_Q22]
Expectancy theory/yemon ot RBrgiaa [Option ID = 85]

Goal-setting theory/ere forerfzur RBrgiaa [Option ID = 86]

Content theory/fwrer axq Brgia [Option ID = 87]

Equity theory /3@ @1 Bigia [Option ID = 88]

A W N -

Correct Answer :-
® Expectancy theory/yemon @1 Bigia [Option ID = 85]

23) LibQUAL+ is a web-based survey offered by:

foraaaret + aq smenfya AdeOI S, S ____ _ SRI Yglol &I SIredl 3 ¢
[Question ID = 23][Question Description = S2_qSNz_PG_LIS_Q23]



College and Research Libraries Association/mfcrst s R emsg@ier vadiRmeret [Option ID = 89]

Association of Research Libraries/waiBmoret sirw 321 csgdlst [Option ID = 90]

Library Administration and Management Association/emsq3t usfiforgoret Us dolstic vaiRmare [Option ID = 91]
Special Libraries Association /gt emrsdist uilifRmorer [Option ID = 92]

A W N -

Correct Answer :-
e (College and Research Libraries Association/aicrsr 65 f32rd emsgist wiiffmorer [Option ID = 89]

24) A device that interconnects two or more networks and selectively interchanges packets of data between them is
known as

T IUDT Sil 3 AT 3iferas olcam! ol rua A Siisdr 3 31 Iord dia s1er tdde wrRiferd U A siar - ufafela ozar 3, s @waa 3 -
[Question ID = 24][Question Description = S2_qSNz_PG_LIS_Q24]

Switch/f¥aa [Option ID = 93]
Gateway/sIed [Option ID = 94]
Hub/za [Option ID = 95]
Router/zez [Option ID = 96]

A w N =

Correct Answer :-
e Switch/faa [Option ID = 93]

25) is a suite of protocols that were developed by the Department of Defence to provide a highly reliable and
fault-tolerant network infrastructure.

YIcImIcll T U g 3 BRI 28 eI SRl i freasicii 3R qfeRlell slcad srazizae Yglol w0 @ fore famRia fopar sk e

[Question ID = 25][Question Description = S2_qSNz_PG_LIS_Q25]
1. DHCP/t wa =it dt [Option ID = 97]

2. VPN/dft tt wor [Option ID = 98]

3. PPPoE/df dt ¢t air € (PPPOE) [Option ID = 99]

4. TCP/IP/& 2t dt / ané ¢t [Option ID = 100]

Correct Answer :-
® DHCP/S} va it bt [Option ID = 97]

26) Lycos is a search engine which was originally started as a research project at-

CIS®IA D I $5161 3 O Perar: o 3roIRieNsl Uf¥RilSIol @ U 3 9% s srRm

[Quest1on ID = 26][Question Description = S2_qSNz_PG_LIS_Q26]
Stanford University/3cswis feral¥fct [Option ID = 101]

Carnegie Mellon University/@ropf dictar gforal¥fct [Option ID = 102]

Harvard University/aras foralict [Option ID = 103]

Virginia Tech/afSiforn 2@ [Option ID = 104]

AWN—\

Correct Answer :-
e Stanford University/3¢eswis JferalR¥fct [Option ID = 101]

27) Theodor Holm Nelson founded Project Xanadu in the year

feRNSI? Blca olcAal of ad 3l giorac Sieis. I Femuet &f
[Question ID = 27][Question Description = S2_qSNz_PG_LIS_Q27]

1958/1958 [Option ID = 105]
1960/1960 [Option ID = 106]
1972/1972 [Option ID = 107]
1979/1979 [Option ID = 108]

A W N -

Correct Answer :-
e 1958/1958 [Option ID = 105]

28) The first version of Unicode was

IfoIDIS DI UBCI HFDVT or @

[Question ID = 28][Question Description = S2_qSNz_PG_LIS_Q28]



8 bit encoding/8 fde sormifsar [Option ID = 109]

16 bit encoding/16 fac sormifSsr [Option ID = 110]
32 bit encoding/32 fie seriisar [Option ID = 111]
64 bit encoding/64 e sorifssr [Option ID = 112]

A W N -

Correct Answer :-

e 38 bit encoding/8 fie sorpifdsr [Option ID = 109]

29) A type of attack in which a person or program disguises itself as another person or program to gain access to some
resource is called

B3I DI Ub bR 11t wafes srerar Qioper Fari 8 fooeft sioa cafes a1 Qisgar & wu o ol Aanerel ao & 3ifie @ foIe 831 37U &IRuT dar
2, ORI DBl 3 ?

[Question ID = 29][Question Description = S2_qSNz_PG_LIS_Q29]
Masquerading /@St [Option ID = 113]

Sniffing/Reiftssr [Option ID = 114]

Phishing/fisfisr [Option ID = 115]

Spooling/zyfeist [Option ID = 116]

A WN -

Correct Answer :-
® Masquerading/sr®dSst [Option ID = 113]

30) The first virus recorded, the Creeper virus was written by

'BIUR aRRA D WU A cof Uscll arRRA [PAD GRI ferar s o ?

[Question ID = 30][Question Description = S2_qSNz_PG_LIS_Q30]
1. Bob Thomas/did emrt

[Option ID = 117]
2. Whitman Diffie/carse ot i3t

[Option ID = 118]
3. Martin Hellman/aufdor 3ctdior

[Option ID = 119]
4. Fred Cohen/w s®a

[Option ID = 120]
Correct Answer :-
® Bob Thomas/dfd em

[Option ID = 117]

31) The first US patent for an active RFID tag with rewritable memory was awarded to

Rerseac 313 @ 19 oftred 3R U 3 31 89T 3q usel I, A Ulc fopl [ sk e ?

[Question ID = 31][Question Description = S2_qSNz_PG_LIS_Q31]
1. Kevin Ashton/dfder vocer

[Option ID = 121]
2. Mario Cardullo/mfsit ®rsgel

[Option ID = 122]
3. Sanjay Sharma/<isrr omt

[Option ID = 123]
4. David Brock/3fds dfe

[Option ID = 124]
Correct Answer :-
® Kevin Ashton/@fder vocor

[Option ID = 121]
32) In the context of the spiral of Scientific Method, the verification phase is represented between which two cardinal
points?



Fursd dsiifore ugfer @ Jget 3 Imuet @Rt @ forrorfeiRaa fipor <1 fogail & dia wrep fopen strar 3 ?
[Question ID = 32][Question Description = S2_qSNz_PG_LIS_Q32]

. Nadir and Ascendent/arlifdieg siie smiaur [Option ID = 125]

. Ascendent and Zenith/smisur siiz ofitfzer fiog [Option ID = 126]

. Descendent and Zenith/sma1aur 3iiz oftdzer fdeg [Option ID = 127]
. Descendent and Nadir/smR¥aur siiz sieiifdog [Option ID = 128]

A w N =

Correct Answer :-

e Nadir and Ascendent/sreifdeg 3iiz smeur [Option ID = 125]

33) Aresearcher "X" published 5 manuscripts. Arranging the manuscripts in the descending order of their citations, the
sequence of the citations appears as 21; 15; 13; 3; 2. What will be the h-Index of the researcher?

efAemelpdl "TaA" of Ufd s¥AfCIitRIl Bl IoId IgIUT D RIS @ 3 W gu Yl fop=n, afe 3gvr o1 A 21; 15; 13; 3; 2 gdla siar 3
dl srofRieNolddl I Ta. $3aA T gl ?

[Question ID = 33][Question Description = S2_qSNz_PG_LIS_Q33]
1. 13 / 13

[Option ID = 129]
2. 3 / 3

[Option ID = 130]
3. 21 / 21

[Option ID = 131]
4. 2 / 2

[Option ID = 132]

Correct Answer :-
e 13 / 13
[Option ID = 129]

34) A publisher offers free access to articles for a week's or a month's time. Under which Open Access (OA) License will the
accessibility option fall?

TP YD1 Al B HUd 3 UGol S foIT ues AHIE AT U G I WIR A1 & 1A 30U6l TaiA (30v) crsia @ siaeia sifdee=aar
(varrAfaferdt) 1 faasea smesn ?

[Question ID = 34][Question Description = S2_qSNz_PG_LIS_Q34]

1. Green OA/sffa1 sit w [Option ID = 133]

2. Bronze OA/qst 3l w [Option ID = 134]

3. Golden OA/siicser 3t v [Option ID = 135]
4. Platinum OA/wifesm 3t w [Option ID = 136]

Correct Answer :-
e Green OA/3ffar 3t w [Option ID = 133]

35) 'Uptodate’ (Kluwer) is:

Jugse’ (agdR) o d

[Question ID = 35][Question Description = S2_qSNz_PG_LIS_Q35]

1. A digital repository for health science researches in Europe/zRu 3 sarzea fsirer olter 3 v f3fotea Jsfgur (Bforear fuifsiesdt) [Option ID = 137]

2. Adirectory of open access journals in health sciences/zare fersiret 3 siluel vaRRI Sholet &I forcforpt [Option ID = 138]

3. Aresource for clinical decision support for health science professionals/zarzes fisier crazniRril 3q fretforbrr fovfer 3t sigg @ fere Jfmerer [Option ID = 139]
4. An alert service from journals covered in a journal database/Swlcr sTert 9t onfitet Stoleil 3 srerc &t Jfdem [Option ID = 140]

Correct Answer :-
e A digital repository for health science researches in Europe/RIu 3 3ares fsier oiter &g v f3fdieet 2eun (Bfeer Ruifsiedt) [Option ID = 137]

36) The International Council on Archives was founded in the year

IARRISERT MICRAPIR Jofe ul¥ug (Seolvrelcl BRRIC 3iit sirbise) &I Fermuo g3 oft :
[Question ID = 36][Question Description = S2_qSNz_PG_LIS_Q36]



1943 /ad 1943 3 [Option ID = 141]
1948 /af 1948 3i [Option ID = 142]
1952 /axf 1952 3 [Option ID = 143]
1956 /e 1956 3 [Option ID = 144]

A W N -

Correct Answer :-
® 1943 /ad 1943 3 [Option ID = 141]

37) The term ‘Internet of Things was first used by:

gcolc 3iiw 21531 ug @1 Adyee SuIeT fbad gRI fosn sk ?

[Question ID = 37][Question Description = S2_qSNz_PG_LIS_Q37]
1. D. W. Lewis/sl. sec], gjsat
[Option ID = 145]
2. Bob Thomas/dfa elfst
[Option ID = 146]
3. Kevin Ashton/@fder vecor

[Option ID = 147]
4. Jian Qin/f3mer faver

[Option ID = 148]

Correct Answer :-
® D. W. Lewis/sl soc], gt
[Option ID = 145]
38) National Centre for Children's Literature (NCCL) is related to
IASERT dIeT AR DG (91Tt AR Bk RicSoA 1R - wat 2l 2t var) foparA Hdfera 3 ?

[Question ID = 38][Question Description = S2_qSNz_PG_LIS_Q38]
NCERT /wor 2 § a ¢ [Option ID = 149]

NBT /et «ft ¢ [Option ID = 150]

RRRLF /3R 3= 31 wet ww [Option ID = 151]

CBSE /=it «ft war € [Option ID = 152]

A W N -

Correct Answer :-
® NCERT/wat 3ft $ ame ¢ [Option ID = 149]

39) Which princely state passed Public Library Act prior to independence?

Faddqar @ yd forotferiad 3 A v Soff frRmreia of Ardsifore grawmrer siféiforie aifya fdoar ar ?

[Question ID = 39][Question Description = S2_qSNz_PG_LIS_Q39]
1. Rajputana/siygren
[Option ID = 153]
2. Kolhapur/oiesgz
[Option ID = 154]
3. Kashmir/mosie

[Option ID = 155]
4. Hyderabad/gczrars

[Option ID = 156]

Correct Answer :-
® Rajputana/rsigdreln
[Option ID = 153]

40) "The special library must, for instance, make much more use of what has come to be known as documentation than the
general library" stated by whom

"RRY yorad (STarIgioe9rsl) B3l SIIl 3 IADT AWAIGA yzawmrerr Dl delell 3 fAfIISe yrawrerr SRI 3ifId IURIPI b0 St @i’ - =16 fopraT
Do & ?



[Question ID = 40][Question Description = S2_qSNz_PG_LIS_Q40]
1. Aksel G.S. Josephson/smiet Sft. 1. SiRIwIer

[Option ID = 157]
2. Paul Otlet/dfet sifecie

[Option ID = 158]
3. Richard H. Johnson/f¥as va. Siforier

[Option ID = 159]
4. John Cotton Dana/stior @fcal Stelt

[Option ID = 160]

Correct Answer :-
e Aksel G.S. Josephson/smiet Sft. B2 SlRIwdo1

[Option ID = 157]

41) Identify the recommendations made by National Knowledge Commission, 2005 to ensure sustained attention to the
development of libraries.

A. Implementation of Public Libraries Act in all states and UTs
B. Reassess staffing of libraries

C. Set up a central library fund

D. Prepare a roadmap for holistic development of citizens

Choose the correct answer from the options given below:

grawmrerll D PRI I 3k Aaa &1l ARIRIA B0l 3q AR sird 3rRIeI, 2005 gRI 6l 31 sregeixa &l usare Hifste :
A. 1t IRAT e i IS Siql A ATdSIoId yrawmrern MfAGRIA 9], oIl

B. grawreril 3 PIfdfd wrazen (F<fibs1) 1 Yolfcaiaat

C. @& sjarcr foifér o1 foraior

D. cieIf¥®l & vl iRt 3g U TR Bl

ofi o s1u fwedl & A A8 IR @I wRI6 HifsrT :

[Question ID = 41][Question Description = S2_qSNz_PG_LIS_Q41]
1. B and C only/@ae B sz C

[Option ID = 161]
2. Aand D only/@aet A ik D

[Option ID = 162]
3. B and D only/dact B 3iiz D

[Option ID = 163]
4. Aand C only/@act A siiz C

[Option ID = 164]

Correct Answer :-
e B and C only/daa B siiz C

[Option ID = 161]

42) As per UGC (Promotion of Academic Integrity and Prevention of Plagiarism in Higher Education Institutions) Regulations
2018, which penalties in case of plagiarism in academic and research publications shall be imposed?

A. Similarity above 10% to 40%: Shall be asked to withdraw the manuscript

B. Similarity above 30% to 40%: Shall be asked to withdraw the manuscript

C. Similarity above 40% to 60%: Shall be denied a right to one annual increment
D. Similarity above 40% to 60%: Shall be denied a right to two annual increments

Choose the correct answer from the options given below:

forafdencrr sielcrel 3RIPT (STaar f91en Fverel 3 srpiciie Acaforsor wd Af3feas @it &bt Awemsn B Yicarsa) faforper 2018 & sgRIR



91g1fOTs e onter yabiors 3 Affearas aft @ amerct 3 fopar onf3a ot IR SIest

A. 10% A siferes A ez 40% a ATRI Blol UR UISfIftr &I 3eRI Sitel @ fore wal siren

B. 30% 2 siferes A a1 40% ac AR Blol U= Tigfeift &I aerI Siret & 1T war Sifel

C. 40% A aiftr A A2 60% dd AR Aol R T aiftfes Adorgly o iR A dfera wwon
D. 40% 3 siferp A dw2 60% am AR ot UR < aiftfes Addergfy @ siffror A dfRia won
ofid fou o1 feseal & A A8 IR BT wRI6T BT :

[Question ID = 42][Question Description = S2_qSNz_PG_LIS_Q42]
1. Aand D only/ddet A 3sie D

[Option ID = 165]
2. Aand C only/daer A siiz C

[Option ID = 166]
3. Band C only/daa B siiz C

[Option ID = 167]
4. Cand D only/d@aet C sz D

[Option ID = 168]

Correct Answer :-
e AandD only/dae A sz D

[Option ID = 165]

43) Which of the following Public Libraries Acts have the provision of library cess?
A. Kerala

B. Manipur

C. Haryana

D. Orissa

Choose the correct answer from the options given below:

forgsifeiRaa 3t A b ArdSIford yramierr 3ifIfoRII 3 yrawrer IUd: BT graens 3

A. @

B. aifdrgz

C. sf=mon

D. Stam .

sifa fou s1e eyl 9 A Al IR BT a6l HIfSIE ¢

[Question ID = 43][Question Description = S2_qSNz_PG_LIS_Q43]
1. Aand C only/ddet A iz C

[Option ID = 169]
2. Band C only/d@ac B siiz C

[Option ID = 170]
3. Aand D only/@ac A siiz D

[Option ID = 171]
4. Aand B only/@act A siiz B

[Option ID = 172]

Correct Answer :-
e Aand Conly/adde A siz C

[Option ID = 169]

44) ldentify Mac Operating System of Apple
A. Sierra
B. Mojave

C. Catalina



D. Debian
E. Big Sur

Choose the correct answer from the options given below:

woe @ A ifuRfésT guiedl &I usare @3 :

A. f¥rear

B. #e

C. dection

D. 3fermer

E. foer 312

ofi o s1u fwedl & A A8} IR BT wRI6T HIfRvTT :

[Question ID = 44][Question Description = S2_qSNz_PG_LIS_Q44]

. A, B, Cand D only/a@5aet A, B, C, D [Option ID = 173]
. A, C, DandE only/adaea A, C, D, E [Option ID = 174]
. B, C, DandE only/aqe B, C, D, E [Option ID = 175]
. A, B, Cand E only/a5aa A, B, C, E [Option ID = 176]

A W N -

Correct Answer :-
e A, B, Cand D only/aact A, B, C, D [Option ID = 173]

45) Which among the following are the examples of "Descriptive Metadata"?
A. Finding aids

B. Specialized Indexes

C. Selection criteria for digitization

D. Curatorial Information

Choose the correct answer from the options given below:

forgotferfRaa 3t A "avielicard AerSer’ & I Blot A 37

A. st anere (wrsfoser ¥g21)

B. fafdrse sroqpAIBR! (FUNRICIESS so3aR1R1)

C. RRrcrssiont @ w@RIcl ATUGUS

D. @=idifrer Fraen

oifa feu sru faredl 3 A A8 IR D1 WRIel B :

[Question ID = 45][Question Description = S2_qSNz_PG_LIS_Q45]

. A, Band C only/daer A, B 3iiz C [Option ID = 177]
. B, Cand D only/dsae B, C siiz D [Option ID = 178]
. A, Cand D only/aaet A, C siiz D [Option ID = 179]
. A, Band D only/daet A, B iz D [Option ID = 180]

A w N -

Correct Answer :-
e A, Band Conly/@ad A, B 3iiz C [Option ID = 177]

46) Semantic web is based on which of the following types of technologies:
A. Resources Description Framework (RDF)

B. Uniform Resource Identifier (URT)

C. Ontologies

D. Indentions

Choose the correct answer from the options given below:

Hdifoca A forarfelRaa & A fova yor & awolies uz smenfya 3 ?
A. Tt Rafgreret Baaw (RDF)

B. gforwist feiRd sms3@wrr (URI)

C. smodrafra



D. $3o19r61
ofld f2u s1u faascul d A A8t Iaz BT Il BIfSIY &
[Question ID = 46][Question Description = S2_qSNz_PG_LIS_Q46]

A, B and D only/d@act A, B siiz D [Option ID = 181]
A, C and D only/daet A, C siiz D [Option ID = 182]
A, B and C only/d@aet A, B siiz C [Option ID = 183]
B, C and D only/a@ae B, C siiz D [Option ID = 184]

A w N =

Correct Answer :-
e A, Band D only/@ae A, B siiz D [Option ID = 181]

47) Which of the following are the Product and Services of OCLC?
A. E Z Proxy

B. Librarians yellow pages

C. Green Glass

D. Cataloguing Distribution Service

Choose the correct answer from the options given below:

forgotferRae 3 21 lat 3l 2l vet 2l @ 3Icurg 3iiz Aam & ?

A. % Sft giaeft

B. cirsdf¥roa Ac Asist

C. 3ffa1 semra

D. dcciifsior Redisuorar Afefa

i fou s1u fypeul 3 2 & 3a= goi ¢

[Question ID = 47][Question Description = S2_qSNz_PG_LIS_Q47]

A and C only/@aa A siiz C [Option ID = 185]
A and B only/d>qet A siiz B [Option ID = 186]
B and C only/@aet B siiz C [Option ID = 187]
C and D only/aaet C siiz D [Option ID = 188]

A WN -

Correct Answer :-
® Aand C only/a>aet A siiz C [Option ID = 185]

48) Which among the following options are true about the concept "Folksonomy"?
A. It was coined by Thomas Vanderwal

B. It was coined in 2009

C. It was coined in 2004

D. It was coined by Brian Acton

E. It was coined by Jan Koum

Choose the correct answer from the options given below:

forgotferfiaa 3 A it - 2l sraemRume "BiaAialifd & ar i Jé 3 ?
A. 31 dsara GRI 31GT SR &

B. 2009 3 siGt srm 3

C. 2004 3 s1G1 or 3

D. fyual vace GRI 31GI R &

E. Sicl f GRI 31GI 3R &

il fou a1e fraseul 9 2 W& 3a= goi ¢

[Question ID = 48][Question Description = S2_qSNz_PG_LIS_Q48]
1. Aand B only/dact A sz B



[Option ID = 189]
2. Aand C only/daer A 3z C

[Option ID = 190]
3. B and D only/daa B siiz D

[Option ID = 191]
4. D and E only/a@aet D sl E

[Option ID = 192]

Correct Answer :-
e A and B only/dbact A 3iiz B

[Option ID = 189]

49) An important Academic Social Networking site, 'ResearchGate' was founded by
A. ljad Madisch

B. Soren Hofmayer

C. Horst Fickenscher

D. Brian Acton

E. Jan Koum

Choose the correct answer from the options given below:

uop J1srayul AeIe APNRID olcafds AT "Rercdele’ & Fenue fepra &t off ?
A. s af3or

B. 31 3w IR

C. 3¢ fbdo9r

D. frer wacst

E. Stot aa

il feu aru fareseal 3 A A Ia= goi ¢

[Question ID = 49][Question Description = S2_qSNz_PG_LIS_Q49]
1. A, Band C only/@aet A, B 3z C

[Option ID = 193]
2. A, Cand D only/@act A, C iz D

[Option ID = 194]
3. B, Cand D only/@aa B, C siiz D

[Option ID = 195]
4. C,DandE only/d@aa C, D sz E

[Option ID = 196]

Correct Answer :-
e A, Band Conly/dac A, B siiz C

[Option ID = 193]

50) In the context of dialogue between a user and computer through an interface, Tefko Saracevic's Stratified Model
(1997) when viewed from the human side represents which strata:

A. Content levels
B. Processing

C. Cognitive

D. Affective

E. Situational

Choose the correct answer from the options given below:

$CIBA CRI WINPT AUl PRI D dla drc D sl 3, 2w ARRR®’ D Fadiamd disc (1997) oI alora @ eftcalvr A A STl U1
forgotferfiaa 3 wlet - a1 Fa= forsfa dm ?



A. siad¥q (Content) ¥=

B. gagaior

C. JsIelca®

D. sirarca®m

E. ufsfR-afer sea

ofla fou s1e fraseul 3 3 & Fa= goi ¢

[Question ID = 50][Question Description = S2_qSNz_PG_LIS_Q50]

A, B and C only/a@aet A, B siz C [Option ID = 197]
B, C and D only/d@aet B, C siiz D [Option ID = 198]
B, D and E only/dqet B, D siiz E [Option ID = 199]
C, D and E only/aaa C, D siiz E [Option ID = 200]

A W N -

Correct Answer :-
e A, Band C only/dact A, B siiz C [Option ID = 197]

51) Which of the following are true about the Z 39.50?

A. It is an international (ISO 23950) standard

B. The contextual Query Language is not based on Z 39.50 semantics

C. It was originally approved by the National Information Standards Organisation (NISO) in 1988
D. It is maintained by IFLA

Choose the correct answer from the options given below:

forgaiferRaa A A Z 39.50 @ an 3 aar-aen Ad 3 ?

A. 5 siazrsda (3méwsh - 23950) ot 3

B. yziemehior geot srar Z 39.50 Adifeawd uz smenfya oiff 3

C. JcI: ICERI Il AleID FdIodl (Tel 3M1$ TA 301) gRI ad 1988 3 sepeifea
D. 3$ uw wer U 3ropfdi &

i R s1e Riedl & 3 18 3w gol

[Question ID = 51][Question Description = S2_qSNz_PG_LIS_Q51]
1. Aand B only/@act A siiz B

[Option ID = 201]
2. Aand Conly/@act A sz C

[Option ID = 202]
3. Band C only/@aet B sz C

[Option ID = 203]
4. Cand D only/dae C iz D

[Option ID = 204]

Correct Answer :-
e A and B only/dbae A 3iiz B

[Option ID = 201]

52) Which of the following are not Posteriorising Common Isolates according to Colon Classification (sixth revised edition)?
A. Institution

B. Learned Society

C. Bibliography

D. Table

Choose the correct answer from the options given below:

fiotdig asfiasur (wvo1 JHonfera Fird2u1) @ sreIR fowafeRad 3 A ®lel uadl Area e (PCl) &t 3 ?



A. 3zen (3ER)

B. faga e (cifefs ARmsd)

C. sjerset

D. arvft

il fou s1e fraseul 9 21 & 3a= goi ¢

[Question ID = 52][Question Description = S2_qSNz_PG_LIS_Q52]

A and B only/dqet A siiz B [Option ID = 205]

A and C only/dbaet A siiz C [Option ID = 206]
B and C only/dqet B siiz C [Option ID = 207]
C and D only/@aet C siiz D [Option ID = 208]

A W N -

Correct Answer :-
e Aand B only/@act A siiz B [Option ID = 205]

53) Which of the following are the Data visualization software?
A. Vosviewer

B. Zotero

C. Minitab

D. NVivo

Choose the correct answer from the options given below:

forgotferRad 3 31 11 frgp3renssIoreT AwedR wlot - A & ?
A. dIRER

B. sirear

C. fiforca

D. wot faal

oifa fou o1 frpeul 9 2 & 3a= goi ¢

[Question ID = 53][Question Description = S2_qSNz_PG_LIS_Q53]
1. B, C and D only/d@ae B, C 3iiz D

[Option ID = 209]
2. A, Cand D only/a@act A, C 3iiz D

[Option ID = 210]
3. A, Band D only/daa A, B sz D

[Option ID = 211]
4. A, B and C only/daa A, B siiz C

[Option ID = 212]

Correct Answer :-
e B, C and D only/aae B, C siiz D

[Option ID = 209]

54) Which of the following are 'TQM' tools?
A. Histogram

B. Pie Chart

C. Bar graph

D. Pareto Chart

Choose the correct answer from the options given below:

forgetferRaea 3 2 blel '@ a3 v’ um=v1 3 ?
A. e
B. uré aré



C. ar I

D. w¥er aré

il f3u a1e fraseul 9 A W& 3= goi ¢

[Question ID = 54][Question Description = S2_qSNz_PG_LIS_Q54]

1. Aand B only/d@det A siiz B [Option ID = 213]
2. B and C only/dae B sfiz C [Option ID = 214]
3. Aand D only/daer A siiz D [Option ID = 215]
4. Cand D only/@aet C siiz D [Option ID = 216]

Correct Answer :-
e Aand B only/daet A siiz B [Option ID = 213]

55) lIdentify web programming languages among the following
A. Ruby

B. PL/1

C. sQL

D. Python

Choose the correct answer from the options given below:

forgatferRaa 31 3 da GropfisT srarsii &t usarer Hifste :

A. =t

B. dt war/ 1

C. v @y wa

D. urrerst

il 3w a1 fyaseul 9 A W& 3= goi ¢

[Question ID = 55][Question Description = S2_qSNz_PG_LIS_Q55]

1. A, B and C only/daet A, B siiz C [Option ID = 217]
2. B, Cand D only/@aa B, C sfiz D [Option ID = 218]
3. A, Cand D only/a@act A, C siiz D [Option ID = 219]
4. A, B and D only/d@saet A, B siiz D [Option ID = 220]

Correct Answer :-
e A, Band Conly/dad A, B 3iiz C [Option ID = 217]

56) Which of these are based on Linux?
A. Fedora
B. Solaris
C. Ubuntu
D. Debian

Choose the correct answer from the options given below:
forgsifciRae 9t A @il cfioraa uz smenfya 3 ?

A. G3R1

B. Jdrenfya

C. 3aog

D. 3ferror

il fou s1u fyeseul 3 2 & 3= goi ¢

[Question ID = 56][Question Description = S2_qSNz_PG_LIS_Q56]
1. A, B and C only/d@aa A, B siiz C

[Option ID = 221]
2. B, Cand D only/@aa B, C siiz D

[Option ID = 222]



3. A, Cand D only/@aet A, C 3iiz D

[Option ID = 223]
4. A, B and D only/daet A, B siiz D

[Option ID = 224]

Correct Answer :-
e A, Band Conly/dac A, B iz C

[Option ID = 221]

57) ldentify open source library automation software
A. OPALS

B. LIBRARIAN

C. KOHA

D. Evergreen ILS

Choose the correct answer from the options given below:

forgotferfRae 3t 2T 3MiUol AR Y3 MG AHiTcdRIR bl usdrs HIfsTe

A. siuca

B. arrsgferor

C. olar

D. vazsfietr 3 wer A

il 3w a1 fraseul 9 A W& 3= goi ¢

[Question ID = 57][Question Description = S2_qSNz_PG_LIS_Q57]
1. A, B and C only/daet A, B siiz C

[Option ID = 225]
2. B, Cand D only/@aea B, C sz D

[Option ID = 226]
3. A, Cand D only/dact A, C aliz D

[Option ID = 227]
4. A, Band D only/daet A, B sz D

[Option ID = 228]

Correct Answer :-
e A, Band Conly/dac A, B aiiz C

[Option ID = 225]

58) Select expert systems from among the following
A. DEEPIN

B. PROSPECTOR

C. REACTOR

D. MYCIN

Choose the correct answer from the options given below:

forgsiferRae 3 A fadrust gurrell bl usarer Hifsrg :

A. 3idfiar

B. QiUac:

C. fgaez

D. azBm@

il fou a1e fyaseul 9 A W& 3= goi ¢

[Question ID = 58][Question Description = S2_qSNz_PG_LIS_Q58]



A, B and C only/@act A, B siiz C [Option ID = 229]
B, C and D only/a@aet B, C 3iiz D [Option ID = 230]
A, C and D only/dsaet A, C siiz D [Option ID = 231]
A, B and D only/d@act A, B sfiz D [Option ID = 232]

A W N -

Correct Answer :-
e A, Band C only/@act A, B siiz C [Option ID = 229]

59) An invitational metadata workshop organised at Dublin in 1995 and treated as the birthplace of contemporary
metadata, was sponsored by

A. National Centre for Super Computing Application (NCSA)
B. Institute of Electrical and Electronics Engineering (IEEE)
C. Online Computer Library Centre (OCLC)

D. International Electrotechnical Commission (IEC)

Choose the correct answer from the options given below:

ad 1995 3 safcrol 3 U ARIGUI ACTSICT PRIIET BT RIS fCHT STRIT AT AT 3A dcpIiclol ATISICT DI SoIHTATG TG SR 3BT YAISTol ___
GRI fdoan sRm e

A. SioreTer 3e? BIR PUR DIRfeeT ufterd>erat (ol Mt A v )

B. $¥Icyc siiw scifigma s scagiiora ssiiforaiier (s § € $)

C. 3ifol cirgol DI a3l e (31 2l var i)

D. gcaiorera saageasitiad weiort (s $ i)

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 59][Question Description = S2_qSNz_PG_LIS_Q59]

A and B only/@act A 3iiz B [Option ID = 233]
A and C only/d@act A siiz C [Option ID = 234]
B and C only/dsaet B siiz C [Option ID = 235]
B and D only/dact B sfiz D [Option ID = 236]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 233]

60) Which of the following are examples of Non-probability Sampling?
A. Convenience Sampling

B. Simple Random Sampling

C. Quota Sampling

D. Stratified Random Sampling

Choose the correct answer from the options given below:

forgotferiiaa 3 A wiar srgIRicrar forcefet (sier - grafaferdl) Jsufeisr @ Iereeor 3 ?
A. Ff¥eneRr forcefar

B. wra arfikes frgola

C. =erior forcofor

D. ¥adipa arikes frgela

off fou s1u fyeseul 3 3 & Fa= goi ¢

[Question ID = 60][Question Description = S2_qSNz_PG_LIS_Qé60]

A and B only/dact A siiz B [Option ID = 237]
A and C only/d@acr A siiz C [Option ID = 238]
B and C only/dsaet B iz C [Option ID = 239]
C and D only/aaet C siiz D [Option ID = 240]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 237]

61) Who among the following were members of the Advisory Committee for Libraries (1957)?
A. B S Kesavan

B. S R Ranganathan



C. P N Kaula
D. A P Srivastava
E. D R Kalia

Choose the correct answer from the options given below:

forrarferRaa 3 oot - ®Blal geamIcrr wpiekcrd} Afdfa (Advisory Committee for Libraries) (1957) @ g & ¢
A. dl.ua daget

B. wel. 31R. 3brot1el

C. dl. gal. wicn

D. u. di. offarda

E. 3l 3R, wifern

o Re a1e Riescul 3 2 & a2 9ol ©

[Question ID = 61][Question Description = S2_qSNz_PG_LIS_Qé61]

A and B only/dact A siiz B [Option ID = 241]
A and C only/@aet A siiz C [Option ID = 242]
B and D only/dact B sfiz D [Option ID = 243]
A and E only/dqet A siiz E [Option ID = 244]

A w N =

Correct Answer :-
e A and B only/daer A 3iiz B [Option ID = 241]

62) Which among the following are examples of primary channels of communicating research?
A. Journals

B. Encyclopedias

C. Theses

D. Thesauri

E. Biographies

Choose the correct answer from the options given below:

forgotferiRae 3 onier @ FAFYUUI @ fere graufdin <olel B Dlol - Blol A IGERYI 3 :
A. Sefa

B. faramia

C. oirer gaer

D. uafari o

E. Sfigor afya

il fou s1u fRyeseul 3 21 & 3a= goi ¢

[Question ID = 62][Question Description = S2_qSNz_PG_LIS_Q62]

A and D only/dbaet A siiz D [Option ID = 245]
A and C only/d@act A siiz C [Option ID = 246]
B and D only/@aet B siiz D [Option ID = 247]
C and E only/aae C 3iiz E [Option ID = 248]

A WN -

Correct Answer :-
e Aand D only/a>aet A siiz D [Option ID = 245]

63) Which of the following are true about the Special Libraries Association (SLA)?
A. SLA was formed in the year 1909

B. John Cotton Dana was the founder President

C. It has its headquarters in Chicago

D. Publishes Science and Technology Libraries, a journal

Choose the correct answer from the options given below:



fafdrse gawmIert g (T el v) & Hder i forafeRaa dle A wee A 3 :
A. fafdrse yraoIert Jda (e we ©) &I Femuer 1909 3 g8 oft

B. Sifcl wlcol SIoll $AD AT eATUD 3eAST A

C. s groarera Prowll 3 fFea 3

D. Iz "AEA Us Toilciioll caIsdlSt oldd Slofcl I YTl Bl 3

ofid fou o1 el 3 2 A8t ST gt ¢

[Question ID = 63][Question Description = S2_qSNz_PG_LIS_Q63]
1. Aand D only/a@aet A siik D

[Option ID = 249]
2. Band C only/d@act B siiz C

[Option ID = 250]
3. Aand B only/dbact A siiz B

[Option ID = 251]
4. Cand D only/d@aet C sk D

[Option ID = 252]

Correct Answer :-
e AandD only/ddae A sz D

[Option ID = 249]

64) Which of the following are related to AGLINET?

A. AGLINET is a voluntary network of agriculture libraries around the world

B. AGLINET is consortia of agriculture university libraries of India

C. AGLINET centres provide partner libraries with access to the literature originating in the country or the region
D. AGLINET is a national network of agriculture libraries in India

Choose the correct answer from the options given below:

forgsifer3ae 31 wiot - Plol "wactlole’ A Adfera 3 ?

A. @ fora 3 oYy frsier Hdelt gramicril o1 'uféceic’ FaRa® ocad &

B. 'wocflore’ sira @ ity frafdencrr @ yraereril o1 wonfofn 3

C. 'ocflole’ ez APl GaamIerll GRI 391 3 srerar et 8iq 3 ¥ ST B M3 DI IucTeeT BAAT &
D. 'wocilolc’ sira 3 DY YFa®IeRIl I AR olcad 3

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 64][Question Description = S2_qSNz_PG_LIS_Q64]

A and C only/d@act A siiz C [Option ID = 253]
A and D only/dbaet A siiz D [Option ID = 254]
B and D only/dsaet B siiz D [Option ID = 255]
Cand D only/a@ae C iz D [Option ID = 256]

A W N -

Correct Answer :-
e Aand C only/aaet A siiz C [Option ID = 253]

65) Which among the following represent, "Asynchronous" reference transactions?
A. E-Mail

B. Web Forms

C. Video Conferencing

D. Ask A Service

E. Digital Reference Robots

Choose the correct answer from the options given below:



forgatferRaa 31 3 Plal "vRIemlorT” 3391 giiagre ol gorfar 3 ?
A . $-3a

B. da wisd

C. dif¥a wrowRist

D. sr@ v Afda

E. R Ybisa Adica

ofid o s1u fweal # A A8 IR BT wRI6T BT :

[Question ID = 65][Question Description = S2_qSNz_PG_LIS_Q65]
1. A, B and D only/dae A, B siiz D

[Option ID = 257]
2. A, B and C only/daer A, B 3iiz C

[Option ID = 258]
3. B, Cand D only/a@ae B, C sz D

[Option ID = 259]
4. C,DandE only/a@ae C, D sz E

[Option ID = 260]

Correct Answer :-

e A, BandD only/@ac A, B sk D
[Option ID = 257]

66) Match List | with List Il

List | List Il

IA. Khuda Baksh Oriental Library I. Tamil Nadu

B. Rampur Raza Library Il. Bihar

C. Sarasvati Mahal Library lll. Uttar Pradesh
D. Nehru Memorial Museum & Library|lV. Delhi

Choose the correct answer from the options given below:

Il -1 ot gt -1 2 difera difsr

Rredt - Rxeht -1l

A. o1 aq9r 3iif¥cer gadIerT |. aifdrcrong
B. I@1Y3 I YIADICRI Il. fBre

C. I¥acdl #sel gradIerRT lll. 3&= ggor
D. ol dafRIcT RISRE Us arsgst IV. et

il fou o1 frseul 3 3 A IR o ©
[Question ID = 66][Question Description = S2_qSNz_PG_LIS_Q66]

A-1IV,B-1I,C-1ll,D -1 [Option ID = 261]
A-11,B-1ll,C-1,D- IV [Option ID = 262]
A-1,B-1I,C-1l, D - IV [Option ID = 263]
A-1I,B-1,C-1l,D- IV [Option ID = 264]

A W N -

Correct Answer :-
© A-IV,B-1l,C-1lll,D- | [Option ID = 261]

67) Match List | with List

List | List Il

Conference Theme

A. 69t IFLA General Conference and Council |l. Access Point Library, Media - information culture

B. 73" IFLA General Conference and Council [ll. Connections, Collaboration, Community

C. 78t IFLA General Conference and Council |lll. Libraries now-Inspiring, Surprising, Empowering

D. 824 IFLA General Conference and CouncillV. Libraries for the future Progress Development and Partnership
Choose the correct answer from the options given below:

et -1 B e -1l A g Hife




ozt -1 ot -1l

(3r#dicTon) (g eftar)

A. 69 di 31$ U Uel U SoRel DIBA || A¥ERI Mg sjurcr, Hifsan - Jaon

B- 73dimwmqaamaﬂlﬁ\nqs Il. duds, FsieT, AISK

C. 78 df anf uw ver v Slokel BIBATS |||, adarer @& grawrer-JR®, mERiso6D,
prefre RIOTD

D. 82 df s uw ver v SlolRel BIBATS V. sifdsa @& gaamIcrT : gt famrt

pr3feT (GTRIT JASHIBTAT

oif<l feu oru fpedl 3 A A8 3R gfore :

[Question ID = 67][Question Description = S2_qSNz_PG_LIS_Q67]
1. A-1,B-1I,C-1V,D-l

[Option ID = 265]
2. A-IV,B-1l,C-1,D-1I

[Option ID = 266]
3. A-1,B-IV,C-1ll,D- 1l

[Option ID = 267]
4. A-IV,B-I,C-lll,D-1I

[Option ID = 268]
Correct Answer :-
e A-I,B-1ll,C-1V,D-ll
[Option ID = 265]

68) Match List | with List Il

List | List Il

Author Source

A. A. K. Das Gupta I. The Rise of Current Composite Bibliographyi
B. AM Lewin Robinson |ll. An Essay in Personal Bibliography

C. T. Besterman Ill. Systematic Bibliography

D. Le Roy Harold Linder|IlV. The Beginnings of Systematic Bibliography|

Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgaifera Hifste ¢

xet -1 Rxeht -

(crzaD) ()

A. T @ SR |. g 15 36 B¥sc waulfsic fafsasiisjibt
B. © wa cifder 3ifereror 1. wot ©33A so1 wRiorar fafeesiisjiht

C. &. Y¥cdian lll. Brcafre ffasiisiibt

D. @ 3 3Acs feres? IV. g feifcisat st Recafes afscsiisjiGt

il fou o1 fyseul 3 A At I gfom ©
[Question ID = 68][Question Description = S2_qSNz_PG_LIS_Q68]

. A-1ll,B-1V,C-1,D - Il [Option ID = 269]
A-1,B-1ll,C-1V, D - Il [Option ID = 270]
A-11,B-1,C-1l,D- IV [Option ID = 271]
A-1,B-1ll,C-1V, D - [Option ID = 272]

A w N =

Correct Answer :-
e A-1ll,B-1V,C-1,D- Il [Option ID = 269]

69) Match List | with List Il

List | List Il

A. Strategic sharing I. Maximising efficiency

B. Paradigmatic sharinglll. Sharing between teachers and students

C. Directive sharing |lll. Establishing a novel distinguishable research approach
D. Social sharing IV. Relationship and community-based activities

Choose the correct answer from the options given below:

It -1 Bl e -1l A gARma B
foxcht -1 et -1




A. ursiifcre AssrSIol (35efSia

5 ) . seraracior

B. exclotze sieutetet (WA |, oo varest crem Reenif @ s wevirorot

ORIf3sT)

C. frdoncare s3SIl (Sfdea lll. v oreflor aen fafdree oner sumPE bt

orIf¥aT) eIUolT

D. Am3AfSre AeIsIon (JAore orIf¥er) (V. dder - den JPSKI nenf¥a erivama

oifY feu oru famedl 3 A 8 3R gforo :

[Question ID = 69][Question Description = S2_qSNz_PG_LIS_Q69]
. A-Il,B-1,C-1Il, D-IV[Option ID = 273]

. A-1,B-1ll,C-1I, D -V [Option ID = 274]

1
2
3. A-1IV,B-1,C-Ill, D- Il [Option ID = 275]
4. A-1ll,B-11,C-1V, D - | [Option ID = 276]

Correct Answer :-
e A-Il,B-1,C-IlIl,D-IV[Option ID = 273]

70) Match List | with List Il

List | List Il

Metadata Examples

IA. Administrative Metadatall. Documentation of the physical condition of responses
B. Preservation Metadata |ll. Search Log

C. Technical Metadata lll. Tracking of system response time

D. Use Metadata IV. Selection criteria for digitization

Choose the correct answer from the options given below:

et -1 B e -1l A g i

ot - | Rt - I

A. gorRiford Jerstier |. gferapzmsii &1 siiferes R-erfer @1 gerast
B. uf¥zgivr dersrer Il. <t cifer

C. adsoiidbl AcTSTeT Ill. Breca Radicd ersd @1 udl eIt
D. SURIeT dAerster IV. f3fSrerssiorer @ fere @rier AGIcs

il fou o1 frseul 3 3 A IR gfor ©

[Question ID = 70][Question Description = S2_qSNz_PG_LIS_Q70]
1. A-,B-1I,C-lI,D-1IV

[Option ID = 277]
2. A-IV,B-1,C-1Il,D-Il

[Option ID = 278]
3. A-IlL,B-1IV,C-1,D-1l

[Option ID = 279]
4. A-1,B-1V,C-1I,D-1

[Option ID = 280]
Correct Answer :-
e A-I,B-Il,C-1ll,D-IV
[Option ID = 277]

71) Match List | with List Il

List | List Il

IA. Member checking I. Attitude Ratings

B. Likert scale Il. Virtual conversation

C. Thurstone Equal Appearing Interval Scalelll. Bipolar scale

D. Synchronous IV. Reverification of collected data and interpretations

Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma Hifde

et -1 et -1I
A. JAGH Siia I. sifdrgfer forerfzor
B. ferasd tarrenm Il. sra=dt Farg




C. erdcot Famror sl sia:az

5 ‘III. eyt Qe (Bipolar)

IV. ifere srer @1 gericamuet 3iik
MTHIGARUT
il fou o1 frseul 3 3 A IR gforw ©

[Question ID = 71][Question Description = S2_qSNz_PG_LIS_Q71]

D. IsmIfciad

A-1V,B-1ll,C-1,D- Il [Option ID = 281]
A-1I,B-1V, C-1l,D - [Option ID = 282]
A-1,B-1I,C-1V, D - Ill [Option ID = 283]
A-11,B-11,C-1V,D - | [Option ID = 284]

A W N -

Correct Answer :-
e A-IV,B-1ll,C-1,D-Il [Option ID = 281]

72) Match List | with List I

List | List Il

IMARC Tag [Field

A. 020 tagl. Marks: a personal name main entry (author)

B. 100 taglll. Marks the physical description

C. 300 tag|lll. Marks a personal name added entry

D. 700 taglV. Marks the International Standard Book Number (ISBN)
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxe -1 e -1
(a1 So1)  |(81p)

A. 020 2a1 ||. Jafepd o #zea gfafte (crawm) ot gorfar 3

B. 100 231 |ll. siifcras auior oot gorfar 3

C. 300 Tar |lll. §f*po ot s yfafde @ gorfar 3

D. 700 2a1 |IV. sioa=fed sloics sfoer Fizoar (31 oA &t Gor) @Y gorfar 3
ofid fou s1e fawedl & A wd I g ¢

[Question ID = 72][Question Description = S2_qSNz_PG_LIS_Q72]
1. A-IV,B-1,C-1l,D-1ll

[Option ID = 285]
2. A-IV,B-1I,C-1,D- 1l

[Option ID = 286]
3. A-IlL,B-1I,C-1,D-1IV

[Option ID = 287]
4. A-1,B-1l,C-1V,D-1I

[Option ID = 288]
Correct Answer :-
e A-IV,B-I,C-Il,D-1l
[Option ID = 285]

73) Match List | with List Il

List | List Il

A. Quantitative Approach |I. Gantt Chart

B. Scientific Management |ll. Bureaucratic Structure
C. Behavioural Approach |lll. PERT / CPM

D. Organisational Approach|lV. Theory X and Theory Y|
Choose the correct answer from the options given below:

Lt -l oot 3Eh -1l A Fgafera HifSie :

foxeht -1 et -1l




A. AICHAD TP |, sife aré

B. dsmuforss yderst Il. silcp29ms el (RRIGR®ICITR)
C. =Ig8RAIél 3uBTaA ll. ot € 3=z & / 2t of var

D. JoIodlicad IUPH IV. Rrgia X siiz Rigia Y

offc feu ore fpedl 3 A 38l 3R gfore :

[Question ID = 73][Question Description = S2_qSNz_PG_LIS_Q73]
1. A-N,B-1,C-1V,D-1

[Option ID = 289]
2. A-1ILB-IV,C-1I,D-1

[Option ID = 290]
3. A-IV,B-1l,C-1,D-1ll

[Option ID = 291]
4. A-1I,B-1,C-IV,D-1l

[Option ID = 292]
Correct Answer :-
e A-IIl,B-Il,C-1IV,D-1I

[Option ID = 289]

74) Match List | with List Il (Match the digital library initiative with the institution involved during their inception/creation)

List | List Il

A. Alexandria Digital Library|l. Cornell University

B. arXiv Il. University of California

C. Universal Digital Library [lll. University of Illinois

D. Project Gutenberg IV. Carnegie Mellon University|
Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et -1 et -l

A. st Ridiea asdst |. Bhor JREaRié

B. smfrma II. afraBiA siie BRIBRT
C. afrazicr Rfirea arsydt . aferaffé sife skiss
D. giStac et IV. wrebh dciier gfeaRiéa

offc feu aru fpedl 3 A 13l 3R gfore :

[Question ID = 74][Question Description = S2_qSNz_PG_LIS_Q74]
1. A-,B-Il,C-1I,D-1IV

[Option ID = 293]
2. A-llLB-1l,C-1,D-1IV

[Option ID = 294]
3. A-1,B-1,C-1V,D-1ll

[Option ID = 295]
4., A-IV,B-lI,C-1,D-1

[Option ID = 296]
Correct Answer :-
e A-I,B-Il,C-Ill,D-IV

[Option ID = 293]

75) Match List | with List Il

List | List Il
A. Screen Magnification Software|l. Microsoft Narrator
B. Screen Reading Software Il. Vaachak

C. Speech Synthesizer Software [lll. Megadots
D. Braille Translation Software |[IV. ChromeVis
Choose the correct answer from the options given below:




&t -l @1 3 -1l A gk Hifde ¢

Rt -1 Rzl -1l

A. Fatol sftratio Afred=rR |. AE@Riitc sk
B. >@lar Sf3er dfrecdzRr Il. arae

C. arg ABud Afwed=R (Fla Ridarssr AfurcdRR) lll. Jensica

D. Jei siglarc fucd=r IV. oiafa

oii<l feu aru fawedl 3 A A8 3R gfore :
[Question ID = 75][Question Description = S2_qSNz_PG_LIS_Q75]

A-11,B -1, C-1V, D - | [Option ID = 297]
A-1ll,B-1V, C-1,D - Il [Option ID = 298]
A-1V,B-1,C-1I, D - Il [Option ID = 299]
A-1V,B-1l,C-1ll, D -1 [Option ID = 300]

A WN =

Correct Answer :-
e A-Il,B-IlIl,C-1V,D-I[Option ID = 297]

76) Arrange the following software according to their year of origin in chronological order :
A. DSpace

B. EPrints

C. GSDL

D. Omeka

Choose the correct answer from the options given below

forgotferRaa iucd=R B1 Joibl Icufelr BITHHGRIR SAfFeId B3 ©

A. 3=

B. ¥ ftjca

C. sff g &1 war

D. siidie1

il fou o1 fyaseul 3 31 & 3a= goi ¢

[Question ID = 76][Question Description = S2_qSNz_PG_LIS_Q76]

1. C, B, A, D [Option ID = 301]
2. D, A, B, C [Option ID = 302]
3. B, C, D, A [Option ID = 303]
4. A, B, C, D [Option ID = 304]

Correct Answer :-
e C, B, A, D [Option ID = 301]

77) As per APA Reference Style (6thed), for a journal article, which sequence of bibliographical elements is correct in the
context of reference structure?

A. Author of the article
B. Title of the journal
C. Title of the Article
D. Year

E. Pages

Choose the correct answer from the options given below

afefep 3irciRa @ fere © Ul v 3B3A Ferdd (901 AID0I) D 3IUGRIR AcH el B YRIdT I JJoACHD dedl DI Dlol AT A Al &

A. 3o @ ra®

B. ufefmr @1 ofitfas

C. 3mcra @ ofidas

D. ad

E. gco

il f3u a1e fyaseul 9 A W& 3= goi ¢



[Question ID = 77][Question Description = S2_qSNz_PG_LIS_Q77]
1. A,D,C,B, E

[Option ID = 305]
2. A,B,C,D, E

[Option ID = 306]
3. A,D,B,C,E

[Option ID = 307]
4. A, C,B,D, E

[Option ID = 308]

Correct Answer :-
e ADC,B,E

[Option ID = 305]

78) Arrange the following e-learning initiatives related to higher education in India in chronological order:

A. SWAYAM MOOCs
B. e - gyan kosh

C. e - PG Pathshala
D. NPTEL

Choose the correct answer from the options given below

HRd 3 Icaar f3reir A Hdfa $ - cfofer garil @ eraamAeRIR *af¥ed @3 :
A. =19 g

B. ¥ - stormior

C. ¥ - di St ureonen

D. wot Ul & ¥ war

il fou s1e fraseul 9 21 & 3a= goi ¢

[Question ID = 78][Question Description = S2_qSNz_PG_LIS_Q78]

1. A, B, C, D [Option ID = 309]
2. B, C, D, A [Option ID = 310]
3. B, D, C, A[Option ID = 311]
4. C, D, A, B [Option ID = 312]

Correct Answer :-
e A B, C, D[Option ID = 309]

79) Arrange the steps of the "Digital Reference Model" derived from Lankes (1998) and Virtual Reference Desk Project
(1998) in the correct sequence

A. Triage

B. Experts Answer Formulation
C. Tracking

D. Question Acquisition

E. Resource creation

Choose the correct answer from the options given below

dio gr1 yferariea "ffreer 3wdo disa’’ (1998) wd fagpier Iw3A 3w Yrotac (1998) @ fafteer arvil @t A8} apr 3 come
A. o

B. vaerué 3163k GIRIcIoreT

C. gfpar

D. Taare1 vadishioer

E. Rt fpfierst

il fou s1e fraseul 9 3 W& 3a= goi ¢

[Question ID = 79][Question Description = S2_qSNz_PG_LIS_Q79]



D, E [Option ID = 313]
A, E [Option ID = 314]
, A, D [Option ID = 315]
C, E [Option ID = 316]

A W N -

Correct Answer :-
e A C, B, D, E[Option ID = 313]

80) Arrange the following Public Libraries Acts according to their year of enactment in ascending order :
A. Gujarat

B. Chattisgarh

C. Rajasthan

D. Goa

Choose the correct answer from the options given below

Ardsifors gramIcr] ifeforial @ ifdiforiarel aul ol RISl @yt 3 caalerd o3 ©
A. 3R

B. sdiseie

C. Il

D. shar

il fou s1u fyeseul 3 2 & 3= goi ¢

[Question ID = 80][Question Description = S2_qSNz_PG_LIS_Q80]

B, A, C, D [Option ID = 317]
D, A, C, B [Option ID = 318]
. D, C, A, B [Option ID = 319]
A, D, C, B [Option ID = 320]

A W N -

)

Correct Answer :-
e B, A, C, D [Option ID = 317]

81) Arrange in sequence the following books authored by S. R. Ranganathan in order of their first publication.
A. Documentation Genesis and Development

B. Library Manual

C. Classified Catalogue Code

D. Prolegomena to Library Classification

Choose the correct answer from the options given below

T3 3R. Ield Gl feilkRaa ferefclRaa graml ol 3oid Y YbI9icl ad @ oRIR GUIdR df3erd s &
A. sraggicerst SfieiRrT ds Sacudic

B. crsddt digsret

C. aenRerss decifdl oIS

D. gicienadien ¢ ezl aenlRifbaseret

il fou o1 freseul 3 2 & Fa= goi ¢

[Question ID = 81][Question Description = S2_qSNz_PG_LIS_Q81]

C, D, B, A [Option ID = 321]
D, C, B, A [Option ID = 322]
D, B, C, A [Option ID = 323]
C, B, D, A [Option ID = 324]

A W N -

» Dy

Correct Answer :-
e C, D, B, A[Option ID = 321]

82) Arrange the following layers in their correct sequence in the OSI Model.
A. Network Layer

B. Physical Layer

C. Presentation Layer

D. Data Link Layer



E. Application Layer

Choose the correct answer from the options given below

3.oA.3E. Jigef B foifeiRada a3t @ Soid At @mar A wraf¥erd o3 :

A. dica® ITR

B. siiferd ¥R

C. gzgfer TR

D. sre feis =

E. Sftcradderet a2

il fou o1 fyeseul 3 21 & 3a= goi ¢

[Question ID = 82][Question Description = S2_qSNz_PG_LIS_Q82]

1. D, A, C, B, E [Option ID = 325]
2. A, C, E, B, D [Option ID = 326]
3. B, D, A, C, E [Option ID = 327]
4. C, A, B, E, D [Option ID = 328]

)

» By

Correct Answer :-
e D, A C, B, E[Option ID = 325]

83) Arrange the following reference and information sources according to their first year of publication:
A. Europa Year - Book

B. Whitaker's Almanac

C. Guinness Book of World Records

D. Statemen's Year - Book

Choose the correct answer from the options given below
forarferRaa ics! 3iiz Jaol Al Bl IoTd Y YbIolol ad @ 3IRIR RIdfd-erd @3 -

A. Ra1 R - g

B. ceréewst sicrond

C. Brofist g sifw acs Hors

D. Fcediol 2 9B

ofi fou a1 el 3 A A8t ST gl ¢

[Question ID = 83][Question Description = S2_qSNz_PG_LIS_Q83]
1. B,D, C, A

[Option ID = 329]
2. B,A,D,C

[Option ID = 330]
3. DA B, C

[Option ID = 331]
4. D,B, A, C

[Option ID = 332]

Correct Answer :-
e B,D,C, A

[Option ID = 329]

84) Arrange the following with their year of establishment in ascending order -
A. American National Standards Institute

B. International Telegraph Union

C. Internet Engineering Task Force

D. World Wide Web Consortium

Choose the correct answer from the options given below



forgotferRaa ol Feruelt ad @ RIS aul I Rai-erd d2

A. 3Aif¥ol o19reIel IS 3T

B. $cediorolet Seliois gfortor

C. 3cvoie Sefiforaf¥sr e Wit

D. a3 arss a9 woAlfcaa

offa fou s1u fyeseul 3 21 & 3= goi ¢

[Question ID = 84][Question Description = S2_qSNz_PG_LIS_Q84]

C, D, A, B [Option ID = 333]
D, A, B, C [Option ID = 334]
A, B, C, D [Option ID = 335]
B, A, C, D [Option ID = 336]

A WN -

Correct Answer :-
e C,D, A, B[Option ID = 333]

85) Arrange the following by their year of creation in ascending order :
A. Moris Worm

B. Creeper Virus

C. Storm Botnet

D. Animal (Trojan)

Choose the correct answer from the options given below:
forgoiferRaa ol ot Icufel ad & IR @t A =ralera @3 ©

A. dif¥r ant

B. @R arRA

C. ¥t dcore

D. uforarer (Qster)

ofi fou a1 el 3 2 A8t ST gt ¢

[Question ID = 85][Question Description = S2_qSNz_PG_LIS_Q85]

1. A, C,D, B

[Option ID = 337]
2. C,B,A,D

[Option ID = 338]
3. B,D, A C

[Option ID = 339]
4. D,A, C, B

[Option ID = 340]

Correct Answer :-
e AC,D,B

[Option ID = 337]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: e-Granthalaya can be customised by the library.
Reason R: Libraries opting for e-Granthalaya have to pay NIC for hosting, maintenance etc.

In light of the above statements, choose the correct answer from the options given below
ofid A1 werol U a1 3 ;. uop sifdrverct (A) & wu 3 fRiRaa 3 @ gar1 3ud @Rl (R) & »ua 3 :

aifdrperet (A) @ grawrerr $RI $ - gramrr DI Sedlad (bIcarsslorn) e s Awar 3
BRI (R) : ¥ - grawrer &I Aar arsel arc! yrawmrerit Bl SRS ded 3rcgevT (Aodleid) nfe @ fore wor 3 2l B YPIATeT B2l UM



SWRIRD Dol D 3MIelld #, ofld 16w 31w farpedl 3 A AR IUuYTP IR DI TRIol I ©

[Question ID = 86][Question Description = S2_qSNz_PG_LIS_Q86]
1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) dieil &t 3 32 (R), (A) &I 3 =ieen &

[Option ID = 341]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) cleil 38t 3 wsg (R), (A) 6t 3 e ofdl &

[Option ID = 342]
3. Ais true but R is false/(A) & @ u3sq (R) &t oidt @

[Option ID = 343]
4. Ais false but R is true/(A) 3@l oidf 3 woq (R) 38 3

[Option ID = 344]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 3@t & 3k (R), (A) 6t 38 ®m=n 8

[Option ID = 341]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: No need to have registration for the copyright works in India.
Reason R: As per the Berne Convention, copyright protection is obtained automatically.

In light of the above statements, choose the correct answer from the options given below

o O weror Ru a1 § 1 uep aifdrsere (A) @ wu @i fiRaa 3 aY gerr 3udd wrur (R) & wu i
siftraserot (A) : aa 3 yRiRenfior (widierkc) o fre usiiaer & smavadsdr odl 3

@1 (R) : aof w1@dcrel & 3RIR, YRIRIReR (Bidkrse) zaa: & gra a srar 3

SWRID Dol @ 3MIclid #, ofid fGu 31w famedl 3 A AR IUYTD IR DI TIol HIfSIT ©
[Question ID = 87][Question Description = S2_qSNz_PG_LIS_Q87]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) glail 3@t 2 3l (R), (A) &t 3dt wareen 8 [Option ID = 345]

2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 2@t & weag (R), (A) 6l et =imen oiet & [Option ID = 346]
3. Aiis true but R is false/(A) 3@t & u3og (R) 3@t ot & [Option ID = 347]

4. Ais false but R is true/(A) 3@l oidt @ ueoqg (R) 2@t 2 [Option ID = 348]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) cleil 3@t & 3iiz (R), (A) &t 3dt =mn & [Option ID = 345]

88) Given below are two statements
Statement I: Yahoo can explore more count of web sites while searching a query than Metacrawler.
Statement Il: Meatcrawler is a Metasearch engine.

In light of the above statements, choose the most appropriate answer from the options given below

il dl el R sre 3 : v aifirperst (A) @ wu 3 feilRaa 3 al gerI 371d ®RUT (R) D wu 3 :
sifdrpera (A) : arg, el g @I gad IR ATIRISCR DI dotoll 3 32D da=arse B AUV B2 ADAT &
ads (R) : AcTpSeR gos der It Soial 3

SWRITD DIl D IATellD 3, o fEu s1u fRiepedl 3 A AT IUYT IR DI <RIl HIFMT :

[Question ID = 88][Question Description = S2_qSNz_PG_LIS_Q88]
1. Both Statement | and Statement Il are correct/(A) siiz (R) @il 3 & iz (R), (A) 6t 3 wmeen 8

[Option ID = 349]
2. Both Statement | and Statement Il are incorrect/(A) sz (R) claii 3@ 8 weaq (R), (A) &I A& ==n o6t 8

[Option ID = 350]
3. Statement | is correct but Statement Il is incorrect/(A) 3%t @ wog (R) @t ot 8

[Option ID = 351]
4. Statement | is incorrect but Statement Il is correct/(A) 3@ orét 8 uzeq (R) &t &

[Option ID = 352]

Correct Answer :-



e Both Statement | and Statement Il are correct/(A) siiz (R) glail 3@t & 3z (R), (A) 6t 38 e 8
[Option ID = 349]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Federated search was developed to provide simplified access to electronic content that libraries acquire.
Reason R: INFEED supports access to e-resources in university libraries.

In light of the above statements, choose the most appropriate answer from the options given below

o O weror Ru sre § 1 uep aifdrseret (A) @ wu @ fiRaa 3 aY gerr 3udd wwrur (R) & wu i

sifiraserot (A) : sierag ofter oot frpTeT sjencril GRT Is 6T SIet ardt sAadifos motee o Fecliad AT Ygior ot o e fsar sk e
@1uT (R) : sorbls (3 vol U § § 1) feafdencrit @ sjencril 3 € - Farerwil & 3if¥eE bt AsRIar w0 3

SWRID DUoll @ 3MIclid A, ofid f6u 31w faaedl 3 A A IUYTD IR DI TIol IS ©

[Question ID = 89][Question Description = S2_qSNz_PG_LIS_Q89]

1. Both A and R are correct and R is the correct explanation of A/(A) siiz (R) grail 2%t 8 sl (R), (A) &t 3t @ & [Option ID = 353]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil 2 & w3oq (R), (A) &t 38 =me=n o8t & [Option ID = 354]
3. Aiis correct but R is not correct/(A) & & weog (R) 3@ odt & [Option ID = 355]

4. A‘is not correct but R is correct/(A) 3@t sief 8 weog (R) 3ét 2 [Option ID = 356]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) leil 3@t 2 3z (R), (A) &t 3d wmeen 2 [Option ID = 353]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: A Web Portal is a specially designed website that brings information from diverse sources.
Reason R: The majority of public libraries in India are using web portals.

In light of the above statements, choose the most appropriate answer from the options given below
il &) perol feu are 31 uop sifdrperet (A) @ wu 3 feilRaa 3 al grr 33 oRur (R) & wu @

sifdrperet (A) : da uiéa v fadig wu A fofifa derarse 2 st fafoer Fdl A FJaon vola war 3
@Rt (R) : s1iRa 3 siferpior Ardsiford sjaUrer A4 UIéel DI YRIPT B &
JURITP Dol D 3MIellD 3, ofldl fGu 318 faaeul 3 A AR IWRITD IR DI ol DIfSTT ©

[Question ID = 90][Question Description = S2_qSNz_PG_LIS_Q90]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) grail 21t 8 3l (R), (A) &t 3 e &

[Option ID = 357]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3@t 8 woq (R), (A) 6t 3 w1 ot &

[Option ID = 358]
3. Ais correct but R is not correct/(A) & 2 w3og (R) & ot 3

[Option ID = 359]
4. Ais not correct but R is correct/(A) 3@t oidl & udoq (R) &t 8

[Option ID = 360]

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 3@t 2 3z (R), (A) &t 3 careen 3
[Option ID = 357]

Topic:- LIS_SHAAN_NOV21B

1)

Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science.
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge. A
crude classification of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism stresses
observation. Historicism stresses the role of background knowledge. Pragmatism stresses the role of analysing values and
goals.



Pragmatic view is probably the most relevant to information science. This sees living and acting in the world as constituting
the a priori of human knowledge. Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge. Having value-knowledge means knowing what fulfils the criteria of good values. Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated. Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance. The pragmatic view of knowledge is of special
importance to Library and Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

forgoiferRae sterior ol ufeu 3iiz 3o UR U a1 yeoil & 3w difto @

fersirer @ coler 3 Sirol Jfleriaan JHdiel AIR=IT den frsiret A AdRia 3o YR &l groffores =T onfdret 3 st it yepfer, meril iR siret
&I Hlermsil A 31 AsTayvl goiform 3u o 3 Femid et e @I AR diz R gellewr 3; asdfyar, Agidiavn A gd & yfder ur o ar
3 sfogumopnadrg Quur u2 ad a1 3 sfierRIas gcosfi sirer & ReT R ad 3a1 3 RAdsIiiadrs Il iz 2ol & feaduvr &t yfdret uz sea
gar g

RIqeIfs zfecmIvT HHAd: el f&silol A eI ATUS 8 A6 faea 3 Sfiget ik ®rI @I Swdr & il & Ae[™ sirer &I grerfdraar o1 foraivr war 3
dicl YR @ SIrel 3 - A MMEMTeA Sl6l, ALRANHD el 311 YT TeNf¥d Silel A METd SAlel DI 312 38 Il D ATUGS Dl YUl SIeIpdRT
WGl & ALANHD SiIol I 31ef il SPIa 3 6ol a1l caftb @ aR 3 e fearT a6 & Y smenfya siror o1 sref fafdrse orf 2m orf & @
DI SIl 301 B ASD Dl SICIDRY ol & Siiel IcAIfd¥d AT fcaIfyd Bl ADdI & ISIEWT D 1w Srefcanf¥a sirol Jilol Siiol, uf¥crI A1 usarel &
Sl A AR 3 Slel D RIasIi¥d efcdIvT YFadIer 3R Jdel sl ol fadly sswa @ & ariifep A8 YradIcrl ud Idoll [silel el &t
ARNTIS YfErpT A 3T 3 ar A Jsufore A1 aidifSas a1 Ardsifors YFadIcr, Sit diddd 6l Adr o2 - & 3R FeleT A I3 3

Which of the following branches of Philosophy studies the nature, origin, and limits of human knowledge?

goferomq &1 forgetferRaa oransii 3 3 blar 2} omRar Jrera siret b yepfer, Iaufer iz Harsii o1 siezrIor ot 3 ?

[Question ID = 91][Question Description = S2_qSNz_PG_LIS_Q91]

1. Metaphysics/arasfiatien

[Option ID = 361]

2. Ethics/smaremsdg
[Option ID = 362]

3. Epistemology /st sz

[Option ID = 363]
4. Logic/as

[Option ID = 364]

Correct Answer :-
e Metaphysics/dacasfiszn
[Option ID = 361]

2) Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science.
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge. A
crude classification of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism stresses
observation. Historicism stresses the role of background knowledge. Pragmatism stresses the role of analysing values and
goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting in the world as constituting
the a priori of human knowledge. Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge. Having value-knowledge means knowing what fulfils the criteria of good values. Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated. Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance. The pragmatic view of knowledge is of special
importance to Library and Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.



forrarferRaa srerior ol ufeu 3R sof U= fu 31w gusil @ 3= <ifSe :

ferstrer @ coler 3 Sirol dfleriaan JAdel IR=IC e frsiret 2 AR 3o R &l grolford WeR=mT onfdret 3 st iR ywmfer, el SR et
&I Hlaarsil A 31 AsTayvl groiform 3u o 3 Ferd Siiet s @I Al diz uR asflovr 3; adsdiyars, Agidlanr A gd &I yfdor uz g Sar
2 sfogurmepmaars Juur ur g Sard  sfieriac geoyfdn sieor &I yfdrer R aa Sar 3 <asii¥aarc el 31z 3391 & faeasyur &t yfdeTt ur g
gar g

RIGBITID fScDIvT HHAa: el [ A SAreT ATUS 3 A faea 3 Shiaet 3R PRI @I ¢xadr & Sl f[ib Arer el Bl grefdmdr ot foreior war 8
el g @ SIrel 3 - AcA MENTed Slel, ALRANHD ol 311 YR Menf¥e Silel A et SAlel DI 312 38 Al D ATUGS Dl gul SIeIDRT
IOl 3 ALACHD STiol DI 31ef ol SPEId 3 ol arcl Iftb @ aR 3 Acar frearT e & gfepn smenfya siror ot sref fafdrse orl anr orl & oo
DI SIS} 3301 D AND Dl SIGIBRY ol & SAiel IcaIfdd AT ofcarfyd 3l ADI & ISV D foru srefcanf¥e sirol Jilol Siiol, uf¥erI A1 usdrel &
Sirel A AdRA 3 Silol D RIqsIi¥d efedIvT YFadIerT 3R el fAstel ol fadly #era @ & ariifes A8 YradIcra vd Idoll fsilol Axeeil &t
ARRIS YT A 5T 3 TR A dofore a1 aibisae & Ardsifors yraerert, Sit diacdg B 2ar @2 1 & iR el A I3 3

Which one of the following methods states that knowledge comes primarily from the sensory experience?

forgaiferRaa 3 37 ol 2l ugla aard 3 o e FAzRIa: AAST Mo A Y 3IdI & ?

[Question ID = 92][Question Description = S2_qSNz_PG_LIS_Q92]
1. Rationalism/a@gfgars [Option ID = 365]

2. Historicism/sftsrias [Option ID = 366]

3. Pragmatism/erasrars [Option ID = 367]

4. Empiricism/sf¢Rugpemaars [Option ID = 368]

Correct Answer :-
e Rationalism/a@gfgars [Option ID = 365]

3) Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science.
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge. A
crude classification of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism stresses
observation. Historicism stresses the role of background knowledge. Pragmatism stresses the role of analysing values and
goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting in the world as constituting
the a priori of human knowledge. Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge. Having value-knowledge means knowing what fulfils the criteria of good values. Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated. Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance. The pragmatic view of knowledge is of special
importance to Library and Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

forgatferi¥ad sreror ol ufGu 3R 3ol uR 13U 31w gwsil @ IR SIS :

forsor & cofor & siroT sfterian Jdel FFz=NT den fAsrer A Al 3o YR 6l groffores e onfdrer ¥ strar fieniam ywpfer, meril s ster
DI ATl A ST AsTayyl creiford U o & JeTd Siiel AR DI Al AR UR FelidI 3; adsgigars, Agidlavr A yd oI yfdor uz s sar
3 sfoguropmaarc Juur uz ac 3ar & sierRIa ysoyfdn sier &t yfdier u2 aa a3 casiaars el iz 339l @ fpdgur &t Yo uz aa
gard

RIGeIi¥® efRedlvT FHad: Jdel fAsiel A SAI6I AT 3 A a9 Siidae 31k ®RI @1 Swadr 3 Sil [ arera i1 & yrefdrodr @1 foiivr war 3
il YR @ SiI6l 3 - A eI Siiel, ALRACHD ol 32 YfepR smenfya ol e snenf¥a et o1 3ref 3ed Pl D Aucs & yul Siererst
IAToll 3 ALATCHD Sliol DI 31ef ciicil SPIA 3 ol arct Iftb @ aR 3 Acar frarT wden & gfepn smenfya sirel o1 sref fafdrse orf anm orf & oo
DI SRl 3ol D AD DI SIGIPRI oIl 3 Siiel ITIA AT rfciId B ADdl & 3IGIBVT D 1T 3iefcanied Silol dlel Siiel, URTRI AT Usdlel D
Sifel 3 AdRA 3 Siiol D RABIND efScDIVT YFADICRI 1R Y6l [dsilel I fa9Iy erd 1M 3 aRIIfD A6 YIADICRI Ud ol fisieol HFeamell ol
ArRTSIP et A F3T 3 a1 A dswform A1 aifd1fiSa® a1 ArdsIfors YraedIorl, Sl diidd, 6l a1 o= @ 3 3l dele A I3 3

Which of the following is not a reason for the pragmatic view of knowledge of special importance to library and information
science?

forgsiferRae 31 3 PBlel Ya®IcrI 3i1R ol [dsiol @ Ader 3 fa9y sva D 6l 3q ATBIND f¥epIvl D DRI o18l 3 ?
[Question ID = 93][Question Description = S2_qSNz_PG_LIS_Q93]



1. Connected to the societal role of LIS institutions/zizensii @ efSim gfdar 3 g 3 [Option ID = 369]

2. Public libraries serving democracy and enlightenment/irdsifore yedeicrt clledd sl sieileer &t 3ar 3d & [Option ID = 370]

3. Living and acting in the world as constituting the "a-priori’ of human knowledge /siera sirot < yrerfdioar @ U 31 SPIs 3 8ol 3k @rf @er [Option ID =
371]

4. Is a representation of reality or a ‘Mirror of Nature'/arafd®ar o1 yferfsiferea 2ol arelt =n ‘gapfer @1 adur. [Option ID = 372]

Correct Answer :-
e Connected to the societal role of LIS institutions/3izensii @& Jmwufse sfdrer A g5 & [Option ID = 369]

4) Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science.
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge. A
crude classification of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism stresses
observation. Historicism stresses the role of background knowledge. Pragmatism stresses the role of analysing values and
goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting in the world as constituting
the a priori of human knowledge. Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge. Having value-knowledge means knowing what fulfils the criteria of good values. Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated. Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance. The pragmatic view of knowledge is of special
importance to Library and Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.

forgatferi¥aa srenor ol ufGu 3R 3ol uR 13U 31w gwsil @ Ik IS :

farstrer & cofor 3 SiroT Jfterian Jdelt AT den fAsirer A Al 3o YR &Y groffores e onfdrer ¥ stror sfieniam yepfer, meril s ster
DI ATl A ST AsTayyl creiford U o & FeTd Siiel AR DI Al AR UR FelidI 3; adsgigars, Agidlavr A gd oI Yidor u? e sar
3 sfogumopmaarc Juur Uz ac 3a1 & sierRIas ysoyfdn siel &t yfdiet uz aa a3 casiaars el iz 339dl @ fpdgur &t Yo uz aa
gard

RIqeIi¥® efReplvT FHad: el Asiel A SAI6 AT 3 A fea 9 Siiaet 31k ®RI @1 ¥ 3 Sil [ airera el & yrefdrdr @1 fopiivr war 3
il YR @ SiI6l 3 - I MeNf¥d Siiel, ALRACHD ol 32 Yfepa smenfya sirol e snenf¥a et o1 3ref 3ed Peil D Aucs & yul Siererst
IAToll 3 ALATCHD Sliol DI 31ef ciicil SPIA 3 ol arct Iftb @ aR 3 Acar frarT xden @ gfepn smenfya sirel o1 sref fafdrse orf 2 Rt & oa
DI SIR] 3ol D AD DI SIGIPRI oIl 3 Siiel T AT Il Bl ADdl 3 3IGIBVT D 1T 3[efcanted Silol dlel Siiel, URTRI AT Usdlel D
Sifel 3 AR 3 Siiol D RIABIND EfScDIVT YFADICRI 3R Y6 [dsilel ol fa9y erd 1 3 aRIIID A6 YIADICRI Ud ol fisiiol H¥earell ol
ArRTSIP et A F31 3 a1 A dsnform A1 aifdifSae a1 Ardsifors YradIort, Sl diidd, 6l a1 &2 @ 3 3R deled A I3 3

'Knowledge exercised in the performance of some task' is a

'fop2ft BRI @ forsurcet # sirer @1 IuRNET a=I 3 ?

[Question ID = 94][Question Description = S2_qSNz_PG_LIS_Q94]
. Procedural knowledge/yfeger 3idtft et [Option ID = 373]

Factual knowledge /e simar [Option ID = 374]

Value knowledge/ajc=1 - smenf¥a siret [Option ID = 375]

Social knowledge /amfSi siret [Option ID = 376]

A W N -

Correct Answer :-
e Procedural knowledge/yfdgen 2idtft st [Option ID = 373]

5) Read the given passage and answer the questions that follow

Philosophy of science consists of epistemological problems as well as other kinds of philosophical problems related to science.
Epistemology is an important philosophical subdiscipline concerned with the nature, sources and limits of knowledge. A
crude classification of basic epistemologies is: Rationalism stresses the role of a priori theorising. Empiricism stresses
observation. Historicism stresses the role of background knowledge. Pragmatism stresses the role of analysing values and
goals.

Pragmatic view is probably the most relevant to information science. This sees living and acting in the world as constituting
the a priori of human knowledge. Value-knowledge, factual knowledge and procedural knowledge are three types of
knowledge. Having value-knowledge means knowing what fulfils the criteria of good values. Having factual knowledge
means having true beliefs about the three worlds in which one is living. Having procedural knowledge means knowing how
to carry out a specific act or act sequence. Knowledge can be unarticulated or articulated. Unarticulated knowledge is, for
instance, tacit knowledge, familiarity, knowledge by acquaintance. The pragmatic view of knowledge is of special
importance to Library and Information Science because it is connected to the societal role of LIS institutions, whether they
are scientific or commercial, or public libraries serving democracy and enlightenment.



forgoiferRaa sterior ol ufgu 3z 3o WR v sw yoil @ 3@ difSte @

ferstrer @ coler 3 Sirol dlerian JAdiel IR=IC e frstret A AR 3o YR &l grolford =T onfdret 3 s gt ywmfer, Aneril s et
&I Htaaisil A 31 AsTayvl grofform 3u o 3 Ferd Siiel HlaiAr @I Al diz R aoflawvr 3; adsdiyars, Agidiavn A gd &I yfdor uz g Sar
g sfoqumopmaarc Juur uz ad Saré sfierIar geoyfdt sier &l yfdrmt Uz ad 3aré asiiears Jeal iz 39l @ frauur &l gfdrmt Uz aa
gar g

RIABIID fScDIvT HHaa: el [ A SAreT ATUS 3 A faea 3 Siiget 3R PRI @I Sxadr 3 Sl b Ao el &I grefdmdr ot forivr war 8
el yR @ SIrel 3 - AcA NI Sil6l, ALANCHD ol 311 GIHRAT MENT¥e Silel A MMt SAlel DI 312 3 Al D ATUGS Dl gul SIeIDRT
IOl 3 ALAICHD STiol DI 31ef ol SPId 3 6ol arcl Iftb @ aR 3 Acar frearT e & gfdpn smenfya sirer o1 sref fafdrse orl am orRl & oa
I I} 3301 D AIND Dl SIGIBRY Il & SAIel Il AT ofcarfd 3l ADr & IoIEVT D foru srefcanf¥e sirel Jilol Siiel, uf¥erI A1 usdrel &
Sitel A AR 3 Sllol D GBI® ZfedIvT YFAdIeRI 3R el fdsiiel ol [y #Asra 3 & ariifes A8 YradIcrl Bd ol fdsilol Azael &l
eI et A 31 3 a A Jsufors a1 A a1 Ardsiford Yamicr, Sit dlddd bl a1 o2 1 3 3iiR sielica A I3 &

Which one of the following knowledge types is difficult to transfer to another person ?

forgotferR3aa 3 3 fopa YR oI Siiol a1 AaRvI il sier afep 3 ofder 3 ?

[Question ID = 95][Question Description = S2_qSNz_PG_LIS_Q95]
1. Articulated knowledge/3zaf¥a siet [Option ID = 377]

2. Social knowledge/zmeufSip siret [Option ID = 378]

3. Declarative knowledge/#wuneias siret [Option ID = 379]

4. Tacit knowledge/sdilst siret [Option ID = 380]

Correct Answer :-
® Articulated knowledge/3caf¥a siret [Option ID = 377]

Topic:- LIS_SHAAN_NOV21C

1) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research. A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are six steps in the literature review process: topic selection, literature search;
developing an argument; literature survey; critique and write a review. The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a number
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

forgotferfR3aa sterior oo ufgu 3iiz sad smen: ur 3w a1w yseil @ 3az e ©

fop2il Sea 13fi oner A A8 sragn bl Sl 3 foo wfder Jeiign 3 wI AsTayy! ORI SIS of or 81 gd Felldwm (3is)1uc) oller A As UL Jon
fop 21eft Jraiférs sAsTagut onell ur @i a1 fdc s Io1 il FsTaygul Iuctoer Azl DI igcad at 3 Sl ol farRr o1 aEer 3
JeRIPB 3 & fopedl wnfdca &6t wwefien a6 frlRaa yea 3 sit aasypt afids A faerr o yeqa oar & anfdca Jsfisn yfegan o o: aror a1 3 :
fererr o1 <rRrel, e HAdieht e &t Hisl, a® - fas o1 ferl, Afi¥feas adsvl, sidlden qer W3fisn crael Afd3c efien yfegrn 3 ar
gers wlere bl agdamdr Bidl 3, A IuYD Ul DI Geol dell AMERT DI Fdol Dol Hogalel de ifelcisel ARl B SURIPT Bl D DIA DI
SeIAIgdd Dol I ST, e LTl 3MclEl, EARIT AT YIeIdl D T A< Dl Ustliol Dol el 306 YIH Dol Dl ST, 3foId Aloicus], Srerat
IR e, oRa® ar faerT off onfdret 3, @ 3meR U= fp=il IPua Dl 3MIciIKell Dol Dl SIIAT; I M DI eadId DI RAAR-LIA WU A STidol
AT 3oTDT [PS3HUT Dol Dl graaer; 3R 91eT 3 URIl o1 fAfiicel sTaerRummaii aor A1eAl Dl JRAEg ADIACID JIEl eIl 3 AU Doll, RRRI 3A
8Xq 3 oner 3 oo aerr ysoyfdr &bl srorer g 8 Ad

At which stage the "review of literature” is usually a representative of the most "prominent research"?

fopa1 arur 3 "wnfdea ehien” AwIGIa: Faifers "wevagul oner’ o1 yferfoifer axedt 3 ?

[Question ID = 96][Question Description = S2_qSNz_PG_LIS_Q96]
1. Master's Level/ZarmmraR a2 [Option ID = 381]

2. PhD Level/dt va st 32 [Option ID = 382]

3. Post Doc Level/3mr sfacse s [Option ID = 383]

4. Undergraduate Level/yd Jomaem a2 [Option ID = 384]

Correct Answer :-
® Master's Level/zarrmraz a2 [Option ID = 381]



2) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research. A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are six steps in the literature review process: topic selection, literature search;
developing an argument; literature survey; critique and write a review. The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a number
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

forgoifciRaa srerior o1 ufeu siiz sAD e uz U 318 il & 3= difsio ©

fepil 3 13af) olier A I8 srugn i Siiedl 3 fop Arfdeer Feiie 3 oI AsTayvl ORI BIST of RN 81 yd Folldd (3iSWIuc) 9liEr A U8 Ufda son
fop 210l 2raiférs sAsragul onell ur Taf 81 Afdcr i Iao1 Wil FsTayul Iuctoer Azl DI AigicaAd aat 3 Sil oAl fawRr ol A3sel 3
JeRIPB B3l & fopedl wnfdca &Y wwefien a6 frlRaa yea 3 sit aasyyt afids A ferr o geqa o & afdca Jefisn yfogan o o: aror a1 3 :
fererr o1 <rRret, forerr JHdieht gaen &Y Hiet, ad - fas o1 R, Afi¥feas adsvl, sidlken qer W3fisn crael Afd3c efien yfegrn 3 ar
gerd Plere bl agAmdr Bidl 3, Al IuYD Ul DI Geol dell AMSRT DI Fdol Dol Hogalel de ifolcisel ARl B IURIIPI dIol D DIA DI
SeIAYdd Dol Dl SIIAI, deIl IUAPH IcEl, EARIL del YIdl B TP A DI Usdlel Dol dl Iod YIH Dol Dl SI3Idr; 3old AlIgus], Srert
IR e, oRa® ar ferT off onfdret 3, @ 3meR U= fp=il IPua bl 3MIciIdell Dol Dl §IIAT; I AMS DI eadId DI AAR-LAA WU A STidol
AT 3oIDT [PSHUT Dol Dl graaer; 3R 9IeT I URIl 915 fAfiicel sTaerRumaii aer A1eAl Dl JRAEg ADIACID 3IET eIl 3 IS Doll, BRRI 3A
8Xq 3 oner 3 oo aer ysoyfdr bl Sorerl g 8 Aad

Which among the following is not a characteristic of "Review of Literature"?

forgetfeiRaa f A dlel "wfdca wsfign” &b fadrudr o8l 3 ?

[Question ID = 97][Question Description = S2_qSNz_PG_LIS_Q97]
1. Statistical Analysis/ziif3=bRr feecswor [Option ID = 385]

2. Understanding of the subject/ferer <6t 3mrer [Option ID = 386]

3. In-depth knowledge/s1sat sire1 [Option ID = 387]

4. Arguments based on logic/a® - fade® smenfsa yzget [Option ID = 388]

Correct Answer :-
e Statistical Analysis/ziifR=IbRr feadwur [Option ID = 385]

3) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research. A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are six steps in the literature review process: topic selection, literature search;
developing an argument; literature survey; critique and write a review. The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a number
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

forgsifeiRae srerior oo ufeu siik A smeR Uz 2w a1e gsil @5 3z e ©

fop2il Sea 13fi ener A As srasn bl Sl 3 foo fder aiign 3 DI AsTayy! ORI SIS of oI A gd Felldwm (3is)31uc) 1er A A Ui dPn
oo it aifere srswayyt onell ur aaf 31 fdca efien It il wrsTaygul sucreer A3l &I figncae aat 3 sl fpil forerRr @l wersE 3
FerRIPB 3 & fopedl wnfdca &Y wefien a6 frlRaa yera 3 st aasyyf afids A frerr o yeqa oear & e efien yfogzn i o: aror a3 :
fererr oo <rret, fRrerr JAdieht e & Fe1, ad - fas o fert, Jfifeas adsel, sdlken qer Wefisn craer  Afde efien yfegRn 3 ar
e PIlel bl 9Dl el 3, AT IUYTD YIell DI gGol dell AMBI DI IDol Dol AoY3lel al 3ifolctnsel fARRRII B IUIPI Dol D DIE DI
GeIAIgdad ol <l SIaIdr, e IURIEH 3mcRal, reARIl deIr Yd! @ Uep Ac bl Usdiol ol eIl 3os Y B0l I S, 3oid AIcus], et
IR YU, oRa® ar faern off onfdret &, @ meR uR fp=il IPua Dl 3MIciIKrell Dol DI §IIAT; I AN DI oadId DI AAR-LAA WU A STidol
e Jolpl feauuT ool &t garar; 3z onter 3 uril o8 fafdteor sraenomnaii den gl Bl IRy ADICID 3Tel ol I DA Dol BRRI 3A
8Xq 3 oner 3 Joc aerr ysoyfdr &bl Sorerl gra 8 A

The third step of the literature review process stresses on:



ifdea Fefien gfipan o dierI vl b1 ur s Sar @ ?
[Question ID = 98][Question Description = S2_qSNz_PG_LIS_Q98]

1. Logical arguments/aad sid gqdt [Option ID = 389]
2. Writing/draot [Option ID = 390]

3. Topic selection/ofitfes @t ar=ret [Option ID = 391]

4. Critique/smeixaen [Option ID = 392]

Correct Answer :-
® Logical arguments/ad® i gl [Option ID = 389]

4) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research. A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are six steps in the literature review process: topic selection, literature search;
developing an argument; literature survey; critique and write a review. The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a humber
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

forgoifciRaa srerior @1 ufeu siik sAD e uz U 318 gesil @ 3= difsiu ©

o=t S 3]} oner A As 3rugn i Sl & fop fdc fign A DIF Asragui DRI BIST of 3R 3l gd Felldd (3iSWSquc) 9N A As JUTSA s
fop 213t >raiferes FsTaygt onell ur @@t &1 nfdc sfien 3o it AeTayyl Iucreer Mzl 6 Wencae @t 3 St vt forerr o1 AarsIor 3
FeRIPB B & fopedl wnfdca &Y wwefien a6 ferlRaa yera 3 sit aasyyf afids A frerr o geqa oear & afdca efien yfegzn i o: R a1 3 :
fererr o <rrel, e JHdieht e &Y Hist, ad - ffas oI R, Af¥feas adsavl, sidlden qer W3fisn crael  Afde efien yfogRn 3 ar
gera @ioret bl sraeudmdr Sidl 3, AT IUYTD Ildl DI gaol Al AMIRT DI IDol DIl Aog3iel del sifelcisol fAfRRIT @ IURILT DIl D DIH DI
SSIAIYdd Dol DI SIHAI, el IUAP IcEl, EARIL dl YId] B TP AT DI Usdiol Dol dl 3o YIH Dol DI SI3Idr; 3old AlIgus], ol
IR e, oRa® ar faern off onfdret &, @ 3meR Uz fp=il IPha bl 3MIciiKell Dol bl §PIAT; I A DI oadIq DI AAR-LId WU A STidol
a2 Jolpl faeauuT ol &t giardr; 3z onter 3 uril o8 fafdteor sraenmumnaii aen gl Bl IRy ADICID 3Tel Il I DA Bwoll, BRRI 3A
8Xq 3 oner 3 oo aerr ysoyfdr &bl Sorer g 8 A

Which among the following skills is required to synthesize concepts that can provide context and background of the research
problem?

oner goal @ Aocs aer yooyfdr bl Sieldrl yra @l @ fere fogoifer3aa 3 3 v wierc &l stragamdr sraemRunsii ol faecsuur el @ fore
Bl 3 ?

[Question ID = 99][Question Description = S2_qSNz_PG_LIS_Q99]

1. Ability to examine and analyse the context/siad¥q b Siidel der 33w frauur wal 6t gwiar [Option ID = 393]
2. Concept and evidence formulation/smemun den 3me yferarger [Option 1D = 394]

3. Potential to search appropriate sources/3ugh i g@ot &I gw@rar [Option ID = 395]

4. Judging a source/fdp=ft i & sireitaon @2t &t gerar [Option ID = 396]

Correct Answer :-
e Ability to examine and analyse the context/siad¥q @l Siicol den 33! fdecsuur w2l Pl gerar [Option ID = 393]

5) Read the given passage and answer the questions that follow

In higher degree research, it is expected that no significant work is left in the Literature Review. Undergraduate research
would be expected to discuss all of the most prominent research. A literature review is a critical discussion of all the
significant available literature that contributes to the understanding of a subject. A literature review is a written document
that presents a logically argued case. There are six steps in the literature review process: topic selection, literature search;
developing an argument; literature survey; critique and write a review. The literature review process requires four
separate skills such as the ability to search appropriate sources and scan the literature efficiently, to use manual and online
methods, to identify and obtain a set of useful articles, chapters and books; the ability to judge a source based on a number
of criteria, including the source itself, the author and the subject; the ability to examine and analyse the content of the
literature systematically; and the ability to synthesize the various concepts and evidence a researcher has found into a
structured piece of discursive prose that provides context and background on the research in the area.

forgotferRae sterior ol ufeu siiz sad smenR ur? 2w a1 gl @ 3az e ©
fepl 3 3f} onter A u1s g i sIrcdl 3 fop afdc Fefien 3 oI FeTayul BRI BIST of sRI 81 yd Folldd (3iSWYIuc) olie A A8 Afda son



fop 31l raifere ssvayyt ofiell uz @raf 81 i3 Jaflsi Iof il AsTayvl sucreer A3l &I FgncaD @@t 3 Sil [l foerr @l AasE I
IMBRIP Bl & fop=il mfdca ot efisn as feilRaa gera & St amyut adia A R & grqa war 3 e Jeish yfpan 3 ©: aRu1 8l 8 ¢
foroRT T TrRIe, faoR e Iaen & s, ad - kas oI [dor, Aisfeas Adgvl, sircae qer e cRael  Alfdc edien yfgar 3 ar
Yo Dol bl ra9umdr Sidl 3, AU SUTD HIdl DI g@ol Al AMFRT DI Fdbol Dol Aogsiel a2 sifelcisol fARRI @ IUIPT Bl D DIH DI
GeIAIgdd Dol bl SI3Hdl, deI IURIPH 3McRdl, eARI eIl YIddl @ U e bl Usdlol ol dell 3os Y B0l Dl g1l 3fold Alolicus], Srerat
IR P, cra® aen e sft onfdrer &, & e uz el Fa bl sireliacl Bl Bl g3ar; I AR Dl sfoadaq DI wral¥erd »u A sTidor
I olpl fecsaur ol & giarer; siiR ofier 3 uril oF fafdioot sraemunsil e A1l ol g ADICID JIEI ol 3 IHWIAA Boll, BRRI 37
8 3 oner A Aoy aer ysoyfdr bl Sorerl gra @ A

Evaluation of a source for the process of review does not depend on:

efign 6 yfdpan 3q st Fa w1 Jeaicwar forafeRaa 3 A e ur fonfz ordl wean & ?

[Question ID = 100][Question Description = S2_qSNz_PG_LIS_Q100]
1. Source/3ja [Option ID = 397]

2. Author/axs [Option ID = 398]

3. Language/smur [Option ID = 399]

4. Subject/few=r [Option ID = 400]

Correct Answer :-
e Source/3ya [Option ID = 397]

Topic:- GP_24NOV_SH2_A

1) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal NumberRat]0 Total Number Ratio

M F F
IT 250 1 |1 |240 2 1
lAccounts 123 2 1 130 3 2
HR 90 3 |2 (30 2 1
Marketing (350 5 |2 343 5 |2
Production [304 5 |3 [351 5 4

AIfIeT I 31ERIGT @3 3M1R 3AD ofid 3w 16 yesli S IR S &
oIl <1 a1$ eferaor 3 b=l FvIo01 @ fdf¥ioot famell 3 ager watenivl oI Fizeen aen Yy SiiR Afdenr sefurd ¢ sk &

Rrif3c wstart  pifdwer amenfya aofarst
[ferseT . Sreured . SroIared
(BT AR ety — DBCT 0AT B
ot & 250 [ 1 [ 1] 240 [2] 1
craar 123 [ 2 [ 1] 130 [3]2
oo simme | 90 [ 3| 2| 30 [ 2] 1
IRravrot 350 [ 52| 343 [5] 2
fgeureat 304 [5]3] 351 [5] 4

Find out the average number of regular female employees in the organization.

Jie1o01 A forfdra aifden wafenty=n &t sira iz sia o3 :

[Question ID = 1211][Question Description = S2_qSNz_PG_GP16_Q01]
83.20/83.20 [Option ID = 4841]
81.25/81.25 [Option ID = 4842]
78.50/78.50 [Option ID = 4843]
79.40/79.40 [Option ID = 4844]

A WN =

Correct Answer :-
e 83.20/83.20 [Option ID = 4841]

2) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the



Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal Number;\at]0 Total Number Ratl:
IT 250 1 |1 |240 2 1
lAccounts 123 2 1 130 3 2
HR 90 3 |2 (30 2 1
Marketing (350 5 |2 343 5 |2
Production (304 5 |3 |351 5 |4

AIfrT I 3MERIGT @3 3H1R 39D ofid 3w 1w yesli S IR S &
oii<l <1 a1$ efereor 3 b=l Fvro01 @ fdf¥ioot famell 3 ager watenivll oI Fizen aem Yy SiiR Afdelr sefurd ¢ sk &

Rrifde wofar$t PRt anenfya wakarst
[fersmra1 . SToIuTd . SiolurcT
(BT AR et fen BCT 0T Obum
o€ & 250 [ 1 [ 1] 240 [2] 1
craar 123 [ 2 [ 1] 130 [3]2
oo wizerot| 90 | 3 [ 2| 30 [ 2]
IRrorot 350 [ 52| 343 [5] 2
fgeuTeat 304 [5[3] 351 [5] 4

Find out the difference between regular male employees and contractual male employees in the organization.

Js1001 4 forIfdra yry watenf=il 3iiz JAferer smenfa gay wefanfyil & vizean o1 siar s @3 :

[Question ID = 1212][Question Description = S2_qSNz_PG_GP16_Q02]
1. 2/2 [Option ID = 4845]
2. 3/3 [Option ID = 4846]
3. 4/4 [Option ID = 4847]
4. 5/5 [Option ID = 4848]

Correct Answer :-
e 2/2 [Option ID = 4845]

3) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees|

DepartmentsTotal Numberz\at]o Total Number Rat1:
IT 250 1 |1 240 2 |1
IAccounts 123 2 |11 130 3 2
HR 90 3 2 |30 2 |1
Marketing 350 5 (2 343 5 (2
Production (304 5 |3 [351 5 4

AIfeTepT BT 31ERIel B2 3R 3AD ofld GU 510 gesll D 3az ¢ &
ofid & o1 afernt 3 b=l Fero01 & fAfficot faemell # o wafanf¥il Bt iz aen gy 3R afden sropura S sk 3

forifara aatarst Riferer smenfya watarst
ot BT FRAT P DT I P

- gy @fden| U @fdelr
smrs & 250 1 1 240 2|1
icrr 123 2 1 130 3| 2
FIleTd AATEIGT 90 3 2 30 2|1
feraroTer 350 5 2 343 5| 2
BeurcGol 304 5 3 351 5| 4

What is the respective ratio of the total number of female employees in the marketing department to the total number of



female employees in the production department?

feraurer fesirer 3 aifdenr walanfyl bl ayer e aen Icurcol fasier A afden ety &I et e @ i g sioqurd 3 ?

[Question ID = 1213][Question Description = S2_qSNz_PG_GP16_Q03]
1. 12/13/12/13 [Option ID = 4849]
2. 11/13/11/13 [Option ID = 4850]
3. 12/17/12/17 [Option ID = 4851]
4. 11/15/11/15 [Option ID = 4852]

Correct Answer :-
® 12/13/12/13 [Option ID = 4849]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees|

DepartmentsTotal NumberRat]o Total Number Ratio

M M F
IT 250 1 |11 240 2 |1
lAccounts 123 2 |11 130 3 2
HR 90 3 2 30 2 |1
Marketing 350 5 (2 343 5 (2
Production (304 5 |3 [351 5 4

AIfeTapT BT 31¢RIel B2 3R 3AD ofld CU s3I0 gesll D 3az ¢ &
ofid &t o1 afernt 3 b=l Fero01 B fAffieot femell d wor eIl Bt iz aen gy iR afden sropura G sk 3

forifdra apatamst Rifder smenfea watarst
[T el IR P el AT P

- gy @fden| ~ g @fdelr
org & 250 1 1 240 2|1
I 123 2 1 130 3| 2
@il F=merer | 90 3|2 30 2| 1
fraoter 350 51| 2 343 5| 2
Scurget 304 5 3 351 51| 4

Find out the difference between the number of contractual male employees and the number of contractual female
employees in the organization.

Jis1o01 3 Jifercr senfya gy iyl &I A aea 2ifder smenf¥a Aden wafanfRil b e @ dia siaR s 3 ¢

[Question ID = 1214][Question Description = S2_qSNz_PG_GP16_Q04]
298/298 [Option ID = 4853]
295/295 [Option ID = 4854]
302/302 [Option ID = 4855]
307/307 [Option ID = 4856]

A W N -

Correct Answer :-
® 298/298 [Option ID = 4853]

5) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the
Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal Number;\at]o Total Number Rat1|:)
IT 250 1 (1 240 2 1
IAccounts 123 2 (1 (130 3 2
HR 90 3 |2 30 2 1
Marketing (350 5 |2 343 5 |2
Production (304 5 |3 |351 5 |4




AIfeTehT BT 31RIel B2 31 3AD ofld GU 310 gesll D 3az ¢ &
ofid & o1 anfernt 3 =il Fero01 B fAffieot fmell 3 wor eIl Bt iz aen gy 3iiR afden sropura G sk 3

forifara aatarst Riferer smenfya watarst
ot BT FAT P DT I P

- gy @fden| ~ g @fdelr
s & 250 1 1 240 2|1
crar 123 2 1 130 3| 2
FITeTd AATEIGT 90 3 2 30 2|1
feraroTer 350 5 2 343 5| 2
Scurgel 304 5 3 351 5| 4

Which department has the highest number of female employees?

fooa fasier & aifden wafanfyt & waiftre dwcn 3 ?

[Question ID = 1215][Question Description = S2_qSNz_PG_GP16_Q05]
. Production/3urger [Option ID = 4858]

Accounts/crar [Option ID = 4859]

Marketing/fauurer [Option ID = 4860]

IT/ax€ ¢ [Option ID = 4857]

A W N -

Correct Answer :-
e |T/am ¢ [Option ID = 4857]

Topic:- GP_24NOV_SH2_B

1) Which of the following is the highest level of teaching?

forgotfeiRaa af A ol AT I Tz o1 forsmor 3 ?

[Question ID = 1216][Question Description = S2_qSNz_PG_GP16_Q06]
1. Memory/zafer [Option ID = 4861]

2. Understanding/dler [Option ID = 4862]

3. Reflective/faeff [Option ID = 4863]

4. Thinking/fidor [Option ID = 4864]

Correct Answer :-
® Memory/fer [Option ID = 4861]

2) Which of the following are the characteristics of an adolescent?
A. Increasing independence from adult control

B. Rapid physiological changes

C. Emotionally matured

D. Acts rationally

E. Increased focus on activities with peer groups

Choose the correct answer from the options given below:

fopont &t fogetfciRaca 3 A ®lor 2t fadrgars 3 ?

A. @i B BRIqUI 3 agdl Fadgar

B. diiq srcifasiform uf¥ador

C. smarcaA® »u A uluga

D. aif¥Se eRepivr A Rgar ol

E. worpet el & e sifefaf?ril uz sifires exmet Soir

oifd fu sru frapeul 3 A Al IR DI RIS DIfSTU :

[Question ID = 1217][Question Description = S2_qSNz_PG_GP16_Q07]

A and B only/dact A siiz B [Option ID = 4865]

A, B and C only/d@act A, B siiz C [Option ID = 4866]
A, B and D only/@aet A, B siiz D [Option ID = 4867]
A, B and E only/dact A, B 3iiz E [Option ID = 4868]

AW N =



Correct Answer :-
e A and B only/@aet A 3iiz B [Option ID = 4865]

3) Which of the following are the most influential factors of learning?
A. Government policy

B. Motivation

C. Aptitude

D. Interest

E. Physical facilities

Choose the correct answer from the options given below:

forgatferRaa 3 3 Pdlet A URPE B JRA Prdt BR® 3 ?

A. il ofifer

B. aif3rgzom

C. sifdrgmarar

D. siftrsfr

E. siifers afaems

il feu s1u faeedl 3 A A8 IR D1 WRIet B :

[Question ID = 1218][Question Description = S2_qSNz_PG_GP16_Q08]

A, B and C only/d@act A, B siiz C [Option ID = 4869]
B, C and D only/a@5aa B, C siiz D [Option ID = 4870]
C, D and E only/a@aer C, D siiz E [Option ID = 4871]
A, B and E only/dact A, B a2 E [Option ID = 4872]

A w N =

Correct Answer :-
e A, Band C only/aac A, B 3iiz C [Option ID = 4869]

4) Match List | with List Il

List | List Il

Institutions Offering Courses Through SWAYAM |Level of Education

A. NCERT I. Post school education

B. IGNOU Il. Undergraduate education
C. CEC Ill. Postgraduate education
D. UGC IV. School Education

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

oxet -1 ot -l

(FaRi & MERPI A UIGRIpA IHaIferd ol dreil Izems ) |(forerur o1 IaR)

A. wot 2 $ 3R & |. F@oe - IuRIed forgm
B. so91 Il. 3raz Foiraam fd1em
C. 3t M1 Ill. ForaiR fArgm
D. st 2t IV. Faer g

oifa feu a1u farsedl 3 A 8 3R gforu :
[Question ID = 1219][Question Description = S2_qSNz_PG_GP16_Q09]

A-1V,B-1,C-1lll, D - Il [Option ID = 4873]
A-1V,B-1ll,C-1,D - Il [Option ID = 4874]
A-1V,B-1,C-II,D-lll [Option ID = 4875]
A-1V,B-1l,C-1ll, D - | [Option ID = 4876]

A w N =

Correct Answer :-
e A-IV,B-1,C-Ill,D- Il [Option ID = 4873]

5) In a learner-centric approach, a teacher should:

sife¢Eradat - dfa sumeta i g o -
[Question ID = 1220][Question Description = S2_qSNz_PG_GP16_Q10]



clarify concepts by citing examples/3c18u1 Yqd ®3d IFaemRun3ii ol e w2l aifse [Option ID = 4877]

facilitate student learning/s1q @ siféeer ol siRIel dollell aifée [Option ID = 4878]

explain concepts by using adequate support materials/ It JRID AWB] DI IWIBI DBID ARV DI RIRR Dol aifde [Option ID = 4879]
demonstrate inside the classroom/@gn @ sicz ygolor w2 fxaren aifde [Option ID = 4880]

A W N -

Correct Answer :-
e clarify concepts by citing examples/3c18u1 Ygd d3d AaemRunaii oI e ool afde [Option ID = 4877]

6) Independent verification of a research effort is known as

fop=il ofler YRIRT b1 Fdridq AATUGI TR BaclIdl & ?

[Question ID = 1221][Question Description = S2_qSNz_PG_GP16_Q11]
Enquiry/geer [Option ID = 4881]

Probe/stia [Option ID = 4882]

Replication/gsrmgfer [Option ID = 4883]

Investigation/smdwur [Option ID = 4884]

A W N -

Correct Answer :-
e Enquiry/geer [Option ID = 4881]

7) Which of the following are characteristics of quantitative research?
A. Questions are open-ended

B. Identified variables are measured

C. Questions are standardized

D. If the sample size is large, the findings can be easily generalised

E. It is difficult to fix the level of measurement

Choose the correct answer from the options given below:

forgotferRaa 3 3 wlet M I 9Ner i fadraar 3 ?

A. 9ol gp-3ad 31 3

B. aifdiforerif¥a ol w1 uet fop=n sirer 3

C. gooT AterbIad 3Id 3

D. afg yfergof @1 snwrR a1 3, dl forswul @T 3mrell I ARIciavT s S Jrwar
E. #96T Fc? aRI Bl Bidol BIdl 3

oifd fu sru frpeul 3 A Al IR DI RIS DIfSTU :

[Question ID = 1222][Question Description = S2_qSNz_PG_GP16_Q12]

1. A, B and C only/dact A, B siiz C [Option ID = 4885]
2. B, C and D only/daet B, C iz D [Option ID = 4886]
3. C, DandE only/a@ae C, D siiz E [Option ID = 4887]
4. A, Cand E only/d@saet A, C siz E [Option ID = 4888]

Correct Answer :-
® A, Band C only/aact A, B iz C [Option ID = 4885]

8) Given below are two statements
Statement I: Researchers in history are myth makers.
Statement Il: Various movements in social history- new history - have provided new narratives for history researchers.

In light of the above statements, choose the most appropriate answer from the options given below

il St werol 3w are 3 ¢

@l - | : sferera olermat Brere - forafar aia &

@l - || : Fenfore sfererRt - ore s # fafdeo siicicrll of sfrerRr oneraalsii & fore oY 3RITel Iucietl BRAT 3
JURITP DYoll B 3Tl 3, ol [Su 31u fameul 3 A A8 3= @1 =61 HifSTe &

[Question ID = 1223][Question Description = S2_qSNz_PG_GP16_Q13]

1. Both Statement | and Statement Il are correct/eermr | siiz |l Si6if 23t & [Option ID = 4889]

2. Both Statement | and Statement Il are incorrect/eret | 3iiz || Sloil siera & [Option ID = 4890]

3. Statement | is correct but Statement Il is incorrect/@erwer | 3& &, fbeq Perw |l srera & [Option ID = 4891]
4. Statement | is incorrect but Statement Il is correct/emt | sie &, fpoq et |l 3t & [Option ID = 4892]



Correct Answer :-
e Both Statement | and Statement Il are correct/emwr | aiiz |l Sleil 3t @ [Option ID = 4889]

9) According to Wimmer and Dominick, the sequential steps in content analysis are:
. Defining the population

. Selection of appropriate sample

. Identifying the unit of analysis and construction of categories

. Code, analyse and draw inferences from the collected data

m O 0O WO >

. Formulation of the research question or hypothesis by the researcher

Choose the correct answer from the options given below

R 3R SIEford @ SRR frRIasg fraduvr & fowafeRaa awvil @ 18 @gr i = :
A. raifte @1 ufesnfia wwoen

B. 3R yfercol @1 arIor et

C. fpayur &t s iz YR &I Haen & usdrer woen

D. Jieyfaa sripsi @l Geay ®oll, Re3HuT w2l 3iiR forsat formreton

E. onermal grr oner ussil = ufyascueinsii o1 forarior o

il fou s1u freseul 3 A I IR BT w6l HIfSIE ©

[Question ID = 1224][Question Description = S2_qSNz_PG_GP16_Q14]

1. A, B, C, D, E [Option ID = 4893]
2. B, C, D, E, A [Option ID = 4894]
3. C, D, E, A, B [Option ID = 4895]
4. E, A, B, C, D [Option ID = 4896]

Correct Answer :-
e A B, C, D, E [Option ID = 4893]

10) Match List | with List Il

List | List Il

Ethical concepts Source

A. Categorical imperatives I. Aristotle

B. Utilitarianism 1l. John Rawl

C. Golden mean 11l. Immanuel Kant
D. Theory of justice IV. John Stuart Mill

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rxeht -1 gl

(cifer sraenzumg) ()

A. forzusr smSer l. sReq,

B. Sunf3rdararg Il. Sifer 3t

C. ¥avi smea Ill. s3rgpatetr wic
D. orr @1 Rigia IV. sifer ¥¢aré Brer

il fou s1o fRypeul 3 3 A I gforw ©
[Question ID = 1225][Question Description = S2_qSNz_PG_GP16_Q15]

A-1,B-11,C-lll, D - IV [Option ID = 4897]
A-11,B-1ll, C- 1V, D - | [Option ID = 4898]
A-1ll,B-1V, C-1,D - Il [Option ID = 4899]
A-1V,B-1,C-1l,D- Il [Option ID = 4900]

A WN -

Correct Answer :-
e A-I,B-1l,C-IlIl,D- IV [Option ID = 4897]

11) In the transactional type of communication, the elements are:

JiIqsIfe AYYLT A, dvd DA 3id & ?
[Question ID = 1226][Question Description = S2_qSNz_PG_GP16_Q16]



Independent/zadq [Option ID = 4901]
Inter-dependent/u3uz forsfz [Option ID = 4902]
Neutral/aezer [Option ID = 4903]
Inactive/foiftazr [Option ID = 4904]

A W N -

Correct Answer :-
e Independent/zadq [Option ID = 4901]

12) Which of the following influence non-verbal communication?
A. Avoidance of signals

B. Invisible incongruence

C. Culture

D. Geographical location

E. Contextuality

Choose the correct answer from the options given below:

forgatferiRaa 3 A o= srenféed AYHUT DI Yefera @m2ar 3 ?

A. 3id>dl @1 ufsr

B. sreox ferisIfer

C. Izmpfa

D. silolifers sraf¥-erfer

E. aichifoar

ofi o s1u fwedl & A A8} IR BT wRI6l BT :

[Question ID = 1227][Question Description = S2_qSNz_PG_GP16_Q17]

A, B and C only/@aet A, B aiiz C [Option ID = 4905]
B, C and D only/a@act B, C siiz D [Option ID = 4906]
C, D and E only/a3aet C, D si E [Option ID = 4907]
A, D and E only/dact A, D 3liz E [Option ID = 4908]

A W N -

Correct Answer :-
e A, Band C only/adact A, B aliz C [Option ID = 4905]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Communication must include the transfer and understanding of messages and their meanings.
Reason R: Achieving perfect communication is a technical possibility.

In light of the above statements, choose the correct answer from the options given below

ofid St Pl fGu a1e 3 @ v sifdrperst (Assertion A) @ ¥u 3 3R eI 3@ PRI (Reason R) @& »u 3 :
sifdraperot (A) : T 3 S9N 3iiz Jord sreif T 3iarvr 3= ater sraew AfdaAfera slon 3w

PRI (R) : ufeyuf AYWUT &1 e Yra Bl U ddolidhl Asiierar 3

SWRITP Pall D el A, offd fBu fasedl 3 A A8 Ia= &1 TRIe Hifste :

[Question ID = 1228][Question Description = S2_qSNz_PG_GP16_Q18]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 3@t 3 3z (R), (A) &t 3 =mz=n & [Option ID = 4909]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 2%t & weag (R), (A) ot 3t =men st & [Option ID = 4910]
Ais true but R is false/(A) 3@t 8 woq (R) 2@t ol & [Option ID = 4911]

A is false but R is true/(A) @t o&t @ wesq (R) 2@t 8 [Option ID = 4912]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) glail 3@t & 3k (R), (A) &t 3@ == & [Option ID = 4909]

14) According to Robbins et al, the sequence of communication functions is :
A. Control

B. Motivation

C. Emotional expression

D. Information

Choose the correct answer from the options given below



3ifreet ud 31o1 @ IGRAIR AYHUT Gl DI AL QI =T & ?

A. foriqur

B. siférgzom

C. srarH® SIfircafe

D. Siorert

il fou s1u freseul 3 2 I IR BT w6l HIfSIE ©

[Question ID = 1229][Question Description = S2_qSNz_PG_GP16_Q19]

B, C, D, A [Option ID = 4913]
D, A, C, B [Option ID = 4914]
C, D, B, A [Option ID = 4915]
A, B, C, D [Option ID = 4916]

A W N -

)

Correct Answer :-
e B, C, D, A [Option ID = 4913]

15) Which of the following are the traits of a competent communicator?
A. Mindfulness

B. Receptive to new information

C. Thinking before acting

D. Should always go by the first impression

E. Be passive to issues around

Choose the correct answer from the options given below:

forgatferRaa 31 3 Plat A AR AYHUI D cIgv1 & ?

A. IRaa

B. ot Sirersdt 6 spgureficrar

C. @1 g @l A usd 3AD R 3 AlRIell

D. gert gera @1 16l 3 3D 31161 dGoll

E. 331 - Ut @ Jei & yfer foifSaza o

ofid o s1u feseal & A A8 IR BT wRI6l HIfRdIU :

[Question ID = 1230][Question Description = S2_qSNz_PG_GP16_Q20]

. A, Band Conly/dqe A, B siiz C [Option ID = 4917]
. B, Cand D only/@aet B, C siiz D [Option ID = 4918]
. C,DandE only/aqe C, D siiz E [Option ID = 4919]
. A, Dand E only/@aet A, D iz E [Option ID = 4920]

A W N -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 4917]

16) What comes next in this sequence?

1,2,2,4,8,32,7?

oikY feu a1u 3oy 3 sEIchl e ®lat i ash ?
1,2,2,4,8,32,7?
[Question ID = 1231][Question Description = S2_qSNz_PG_GP16_Q21]

84/84 [Option ID = 4921]
64/64 [Option ID = 4922]

128/128 [Option ID = 4923]
256/256 [Option ID = 4924]

A W N -

Correct Answer :-

e 84/84 [Option ID = 4921]

17) If seven persons can build a house in 30 days, how long will it take three persons to build the same house, provided
that they all work at the same rate?

afe Ara caftp it AAwmrer ot 30 ot 3 doir ADA 3, ol caftpRal B 3A ADIT DI dollol A fbdal 3ot crolal, @ord fob A il FATeT 2 A BRE



DAAS ?

[Question ID = 1232][Question Description = S2_qSNz_PG_GP16_Q22]
. 100 days/100 f¥or [Option ID = 4925]

70 days/70 f&et [Option ID = 4926]

30 days/30 for [Option ID = 4927]

210 days/210 for [Option ID = 4928]

A WN =

Correct Answer :-
e 100 days/100 f&at [Option ID = 4925]

18) If the difference between compound interest and simple interest on some principal amount at 20% for 3 years is Rs 64,
then the principal amount is -

Afe fep1t gcreror R 20% bt <2 A 3 ad B e amgfy ®aret iz ATLURYI RATST @I 3R 64 FURI 3, dl a8 Hclelol S D3I

[Question ID = 1233][Question Description = S2_qSNz_PG_GP16_Q23]
1. Rs 495/% 495 [Option ID = 4929]
2. Rs 550/% 550 [Option ID = 4930]
3. Rs 375/% 375 [Option ID = 4931]
4. Rs 500/% 500 [Option ID = 4932]

Correct Answer :-
® Rs 495/ 495 [Option ID = 4929]

19) Given below are two statements

Statement I: The angle between the minute hand and the hour hand of a clock when the clock shows 3 hours 20 minutes is
25°

Statement II: Between 4 and 5, the minute hand and hour hand of a clock will be coincident at 31 2 minutes past 4.
11

In light of the above statements, choose the correct answer from the options given below

off< <t werer fRw a1 3 :
@l - | : afe a3l 3 sz 20 Bioie @1 FRI oIkl 3 dl 3Dl €@ bl 32 3l frere bl 3 D S 25° o1 BIvr Joier 3

werot - 1l 2 4 3z 5 & fila 4 worD? 21 - Bioic uz @l B 6 S 7F 3z Brore B 7F v arer Hickoht
11

SURITb Doil D 3Iclid H, ofld U s1e facul 3 A Jl IR BI wRIel BIferw :
[Question ID = 1234][Question Description = S2_qSNz_PG_GP16_Q24]

1. Both Statement | and Statement Il are true/@emwt | iz || Sleit A @ [Option ID = 4933]

2. Both Statement | and Statement Il are false/aeret | iz |l Gleil sRicr & [Option ID = 4934]

3. Statement | is true but Statement Il is false/memwer | 311 8, fbog @eret lIsrir & [Option ID = 4935]
4. Statement | is false but Statement Il is true/ere | 31 31 8, fbog @eret || 3=r & [Option ID = 4936]

Correct Answer :-
e Both Statement | and Statement Il are true/aermer | 3iiz |l glell 31 & [Option ID = 4933]

20) Which of the following statements are correct?

A. If the cost price of an item is Rs.56 and the gain percentage is 20%, the selling price of the item is Rs.76.2.
B. If the cost price of an item is Rs.80 and the loss percentage is 15%, the selling price of the item is Rs.68.

C. If an item purchased in Rs.5 is sold for Rs.6, the profit is 25%

Choose the correct answer from the options given below

forraiferRaa werell R foar bifsme :

A. Afe fpfl avq o1 a1 Ic 56 FuA 3 3R 33 R 20% i Biar 3, dl 3A avq DI fa a1 76.2 A 3
B. afe fepeft avq o1 @ ca 80 U 3 31k 3A Jarot uz 15% aifer 3kt 3, dl 3 avg &1 fdazr Jea 68 IuA T
C. afe fopafl avg ot 5 U I WHew= 6 U 3 Jar St 3 Al A u= 25% ot dier 8

SR A A Pla a1 / A weor A& 3/ 8?7

[Question ID = 1235][Question Description = S2_qSNz_PG_GP16_Q25]

1. Conly/aaa C [Option ID = 4937]
2. Bonly/@act B [Option ID = 4938]
3. B and C only/abaa B siiz C [Option ID = 4939]
4. Aand B only/d@act A siiz B [Option ID = 4940]

Correct Answer :-



® Conly/aaea C [Option ID = 4937]

21) Match List | with List Il

List | List Il

A. Vyapti I. An immediate valid cognition of reality due to some kind of sense-object contact
B. Anumana |ll. A source of knowledge on the basis of the likeness of things

C. Pratyakshallll. Knowledge of an object due to previous knowledge of some sign or mark

D. Upamana |IV. The universal relation between the middle and major term of inference
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -l

A ? |. b2l ypR @ sfogaret Afoorard & BrRUT Aemef o1 drpra de
) RisTIol

B Il. <iisil &Y AHUAT D IMMENRT U Silol BT A

3IoJdToT

C. geagr  lll. fopeft 3idda 1 fre @ gd silel @ smeR UR fopefl arg @1 =itot
D. suairer |IV. siodItel @ 3d Ug 3k A1eA U @ i Asard forma
oif<l feu aru fawedl 3 A A8 3R gfore :

[Question ID = 1236][Question Description = S2_qSNz_PG_GP16_Q26]

A-1,B-1V,C-1lll, D - Il [Option ID = 4941]
A-11,B-11,C-1,D- IV [Option ID = 4942]
A-1ll,B-11,C-1,D- IV [Option ID = 4943]
A-1V,B-1lIl, C-1,D - Il [Option ID = 4944]

A WN -

Correct Answer :-
e A-I,B-1V,C-Ill,D- Il [Option ID = 4941]

22) Match List | with List Il

List | List I

A, Sannidhi||. Mutual fitness and compatibility of the constituent words in a sentence
B. Tatparyalll. Expectancy between the words different in a sentences

C. Yogyata |lll. Propinquity between the different words in a sentence

D. Akanksa[lV. Meaning intended by the sentence

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSre :

oxet -1 ozt -1l

A. afoorfer ||, araRr 3 Faed 9recl Bl uRUly® Surpdr 3R JHoIAdr
B. arca=f  [ll. araRr & orsclt @ i yezmom

C. as=rar |l ara=r & fafdreet orscl @ dia Aeficr

D. smepignm IV, araRr g1 if8rga sref

il fou s1e frseul 3 ¥ A8 IR gfor ©
[Question ID = 1237][Question Description = S2_qSNz_PG_GP16_Q27]

. A-1,B-1,C-1ll,D- IV [Option ID = 4945]
<1V, B- 11, C-1ll, D - | [Option ID = 4946]
-1, B-1,C-1V, D - lll [Option ID = 4947]
<1, B-1V, C-1, D - Il [Option ID = 4948]

AW
> > >

Correct Answer :-
® A-Il,B-1,C-Ill,D-IV[Option ID = 4945]

23) Name the fallacy committed in the argument.
"All household pets are domestic animals.

No unicorns are domestic animals.

Therefore, some unicorns are not household pets."

Choose the correct answer from the options given below

ofla f2u are ao 3 ool AT aw QU 3 ?

1sfl B SIreTaR Urelq] SilolaR &



DI Yforplel Urelq SioIaR oidl &
sAfere @B Jformlol T3¢ Siolar ol &
[Question ID = 1238][Question Description = S2_qSNz_PG_GP16_Q28]

. Undistributed Middle/smear ag [Option ID = 4949]

. Affirmative conclusion from Negative Premises/oibRIcoHD 3men ard=il 3 AbRIcHD forepd [Option ID = 4950]
. Exclusive fallacy/smuasia @@ gt [Option ID = 4951]

. Existential fallacy/sif¥arauze aa giw [Option ID = 4952]

A W N -

Correct Answer :-

e Undistributed Middle/sema 2 [Option ID = 4949]

24) Consider ‘A’ proposition as ‘True' and ‘False' respectively, in a square of the opposition of propositions, then which one
of the following is correct?

do araRll @ fauid el # ‘A’ dad araR1 oI @Al Hl' SR ‘Steid’ Aol forgeliciRad i A @it A1 ABI G 3 ?

[Question ID = 1239][Question Description = S2_qSNz_PG_GP16_Q29]
1. '0"is True and 'I' is False/'0" 3@t @ 3iiz 'I' sere1 8 [Option ID = 4953]

2. 'E'is Undetermined and 'O’ is False/'E’ siforerifya & 3iik 'O’ srere@ 8 [Option ID = 4954]
3. '0'is Undetermined and 'I' is False/'O" siforerff3a 3 iz 'I' sietad 2 [Option ID = 4955]

4. 'I'is True and 'E' is False/'I' st 2 3liz 'E' sierer 8 [Option ID = 4956]

Correct Answer :-

e 'O'is True and 'I' is False/'O" 2t 8 sk 'I' srer & [Option ID = 4953]

25) In which of the following forms of knowledge there cannot be any predication of the object in terms of the subject-
predicate relation?

forgsiferae 3 3 b1 silol grau @ 329 - AR Jder bl zfRe A arq o1 @I [AdRIel o1&l 81 Adar 3 ?
[Question ID = 1240][Question Description = S2_qSNz_PG_GP16_Q30]

. Nirvikalpaka Pratyaksha/fsifdfacus yeist [Option ID = 4957]
. Savikalpaka Pratyaksha/zifd@cus geiet [Option ID = 4958]
. Samanylaksana/mieRrcigr [Option ID = 4959]

. Yogaja/=herst [Option ID = 4960]

A W N -

Correct Answer :-
e Nirvikalpaka Pratyaksha/feifdfacusm geier [Option ID = 4957]

26) A spreadsheet is

*sofic 3 -

[Question ID = 1241][Question Description = S2_qSNz_PG_GP16_Q31]
. One-dimensional table or grid/uve® - fduftr aiferer =1 Bfs [Option ID = 4961]

. Two-dimensional table or grid/fg - faefter anferept =n Bz [Option ID = 4962]

. Three-dimensional table or grid/f - faefier anferast = s [Option ID = 4963]

. Four-dimensional table or grid/«aqg - fasfr aiférr =n B [Option ID = 4964]

A W N -

Correct Answer :-
® One-dimensional table or grid/v® - fiefler aiferer =n Bfs [Option ID = 4961]

27) In electronic banking, ATM stands for

saracifore Sfeper @ der 3 v & va o1 Y ol =i 3 ?

[Question ID = 1242][Question Description = S2_qSNz_PG_GP16_Q32]
1. Automated Transfer Money/3iiclaies giRIw2 doft

[Option ID = 4965]
2. Automated Teller Machine/sifciaics ez diofter

[Option ID = 4966]
3. Automatic Transfer Machine/siiclifes gieiwe arofiet

[Option ID = 4967]
4. Automatic Transfer Mode/sifciaifeed giRiwe aits

[Option ID = 4968]

Correct Answer :-



o Automated Transfer Money/3ifclaics gRIB? oft
[Option ID = 4965]

28) Which of the following is a disadvantage of laptop computers in comparison to desktop computers?

3¥Deia BIRIeA B getolt i Auciu warpel & fororferRaa 3 I bl 2l v @t 3 7

[Questlon ID = 1243][Question Description = S2_qSNz_PG_GP16_Q33]

It has no trailing wires/sw! @I$ ar forpa ot 3 & [Option ID = 4969]

It has lower power consumption /s fdsieft bt 2aud @ aidt & [Option ID = 4970]

It is lightweight and self-contained/s@r aster @wat aler 3 il @16 Fa: yui alar & [Option ID = 4971]
It is easier to break or steal/s3 dlsal =1 gRien 3R 3ldr 8 [Option ID = 4972]

AWN—\

Correct Answer :-
e |t has no trailing wires/sui @I$ AR formet o8l &1 & [Option ID = 4969]

29) Which of the following statements are correct?

A. Laser printers use dry ink

B. Unlike dot matrix and inkjet printers, laser printers do not use ink when producing a document
C. Laser printers use the property of static electricity

D. Laser printers produce ozone gas and tiny toner particulates in the air

Choose the correct answer from the options given below

forgatferRaa werell & ek u? far Hifsie :

A. R Rl 3 v Rarél @I 3uriel fop=n Siar 3

B. Sic @t siiz swole fYerl & Rudla cor el d crards TR B IR RS DT IURIEI ol fop=n siar 3
C. oor 3t 3 foru Rer fega & fadraar/sor o1 yRier diar 3

D. <R fe? ary 3 siisilel 31 3R ol @ Y DI IcUool Bl 3

SwRfts 3 A wot A1 / A werer A& F ?

[Question ID = 1244][Question Description = S2_qSNz_PG_GP16_Q34]

. A, B and D only/daer A, B 3iiz D [Option ID = 4973]
. A, Cand D only/a@ae A, C siiz D [Option ID = 4974]
. B, Cand D only/daer B, C iz D [Option ID = 4975]
. Aand C only/dact A siiz C [Option ID = 4976]

A w N =

Correct Answer :-
e A, Band D only/aact A, B 3iiz D [Option ID = 4973]

30) Given below are two statements
Statement I: DRAM consists of a number of transistors and capacitors
Statement Il: DRAM needs to be constantly refreshed

In light of the above statements, choose the correct answer from the options given below

il S perel 3w sre 3 ¢

@l - | 1 €1 3R © war 3 30 CifSRes 3k Jenfyq (BufieR) Afdafer s &
@erel - |l : 3t 3R € wat ol eI Y6 orasor bl stragadar skl 3

SWRITP Pl @ 3MIelld i, ofld 3w s1e Ripedl 3 A A8l IR I a6t HifSte :
[Question ID = 1245][Question Description = S2_qSNz_PG_GP16_Q35]

Both Statement | and Statement Il are true/emr | 3z |l Gi6il 311 & [Option ID = 4977]

Both Statement | and Statement Il are false/@em | 3z |1 Gloil 3Rt & [Option ID = 4978]
Statement | is true but Statement Il is false/erwrl | 31 @ , g @eret |l srir & [Option ID = 4979]
Statement | is false but Statement Il is true/wepl | sRI= & , fbog et || A= & [Option ID = 4980]

A w N =

Correct Answer :-

e Both Statement | and Statement Il are true/aemr | aiz | Gleif a1 & [Option ID = 4977]

31) According to Niti Ayog's SDG Index (2019-20), which among the following states is the best performer in the attainment
of SDG-5 (Gender Equity)?



oiifer mRNPT & wSisl Jawic (2019 - 20) @ R, WSk - 5 (SiRTe 3roIarn) gra ool # fogefcilRaa 3 A fpa s a1 ygolar ad9so
37?

[Question ID = 1246][Question Description = S2_qSNz_PG_GP16_Q36]

1. Kerala/@2c [Option ID = 4981]

2. Himachal Pradesh/fareet ygor [Option ID = 4982]

3. Sikkim/Bifwa [Option ID = 4983]
4. Goa/siar [Option ID = 4984]

Correct Answer :-
e Kerala/azct [Option ID = 4981]

32) Protection from Ultraviolet Radiations as envisaged under the Montreal Protocol also contributes to following SDGs

difoczrer QIAdiar i 6l 318 ulkaseustt @ IIGRIR URIHsTofl fafep2ur A Jzgvr forwaferRaa 3 A fopar v 31 Sit 3 oft Aecrer e & ?

[Question ID = 1247][Question Description = S2_qSNz_PG_GP16_Q37]
1. SDGS 3, 11, 14, 15/va St st 3, 11, 14, 15 [Option ID = 4985]

2. SDGs 10, 16, 17/va St it 10, 16, 17 [Option ID = 4986]

3. SDGs 4, 5, 11, 17/va St sit 4, 5, 11, 17 [Option ID = 4987]

4. SDGs 8, 10, 12/ St st 8, 10, 12 [Option ID = 4988]

Correct Answer :-
e SDGS 3, 11, 14, 15/va &t sht 3, 11, 14, 15 [Option ID = 4985]

33) Among all recorded species in the world, India accounts for about

faea 3 Rers &l o1 21eft genferil 3 A aRda 3 cenET fodel yenfer 37

[Question ID = 1248][Question Description = S2_qSNz_PG_GP16_Q38]
7-8%/7-8% [Option ID = 4989]

10-12%/10-12% [Option ID = 4990]

15-18%/15-18% [Option ID = 4991]

20-25%/20-25% [Option ID = 4992]

A w N =

Correct Answer :-
e 7-8%/7-8% [Option ID = 4989]

34) In respect of Biochemical Oxygen Demand (BOD), the permissible Indian standard for discharge of treated effluents in

Inland Surface Waters is

SIaRRIRIfoID sifadistor #ieT (f s 1) & Zder A, oNfera af2:3yra @1 sroa:erciiR A} SieT A Sisol @ 1w Rk HAeI a=r 3 ?

[Question ID = 1249][Question Description = S2_qSNz_PG_GP16_Q39]
1. 5.0 mg/L/5.0 Bep/ <t

[Option ID = 4993]
2. 6.0 mg/L/6.0 Bep./ <ft.

[Option ID = 4994]
3. 15.0 mg/L/15.0 Bep./ <t

[Option ID = 4995]
4. 30.0 mg/L/30.0 g/ <ft

[Option ID = 4996]
Correct Answer :-
® 5.0 mg/L/5.0 Bwey./ cft.
[Option ID = 4993]

35) Which type of power plants uses the least land per unit of GWh energy production?

fpa1 yopR @ fgga JRiq yfer sors sfismarnc der (it soc3y wa) il Scurcer @ fore AR wa Yfdr o1 IURNET B 3 ?

[Question ID = 1250][Question Description = S2_qSNz_PG_GP16_Q40]
Wind/uaet [Option ID = 4997]

Coal/orren [Option ID = 4998]

Solar/3itz [Option ID = 4999]

Geothermal/sgardizr [Option ID = 5000]

A W N -

Correct Answer :-
e Wind/uaet [Option ID = 4997]



36) Which of the following are the major recommendations of the NEP-2020 related to higher education?
A. To increase GER from 26.3% to 50% by 2035

B. Establishment of world-class universities

C. 'Light but tight' regulation by a single regulator for higher education

D. Promoting research in science and technology

E. Opening of 1500 more universities

Choose the correct answer from the options given below:

wot § o - 2020 3 3o Ot & Ader 3 foworfeRaa 3 A it 2t gga Breifer 3 ?
A. Sfifame @Y 26.3% A dgrd 2035 a 50% wen

B. frea - Fadiar feafdencrit &bt Fermaen

C. 3ca fAren & fore uaval RAIRIPIG GRI ‘sl g ok (carse ac erse)’ faforior
D. fastrer 3iiz qienf3rbt 3 oner @ dagrar ol

E. 1500 3iiz ferafdenern Hicion

il feu aru farmedl 3 A A8 IR @1 WRIel B :

[Question ID = 1251][Question Description = S2_qSNz_PG_GP16_Q41]

A and B only/dact A siiz B [Option ID = 5001]
A and C only/daa A siiz C [Option ID = 5002]
B and D only/dact B sfiz D [Option ID = 5003]
D and E only/a@qet D siiz E [Option ID = 5004]

A wWw N =

Correct Answer :-
® A and B only/daet A 3iiz B [Option ID = 5001]

37) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Choice-based Credit System (CBCS) is adopted out of the need for flexibility in the education system so that
students, depending upon their interests and aims, can choose interdisciplinary, intra-disciplinary and skill-based courses.

Reason R: The majority of Indian higher education institutions have been following a marks or percentage-based evaluation
system, which obstructs the flexibility for the students to study the subjects/courses of their choice and their mobility to
different institutions.

In light of the above statements, choose the most appropriate answer from the options given below

il St werel fRu s1e 3@ uwap sifdraperet (Assertion A) @ %u 3 iz ¢RI 3> ®RuT (Reason R) & w4 3 :

aifdreperst (A) : forem yoredt 3 creficiuct & et @t =101 3 2 gU faaveu - snenfya @ Feypmedt (2t &t 2t v2r) @) sruemren  a@ifs 81 st
ARBRRI iz 329 D TR iR - ARG, IT:freRIB 3iik Blorer 3menfya UrgRIagil BI TRIcl B2 AD

®rRYI (R) :rda 3 siferaier 3ca forgn Hzemd sice an yferera snenf¥a Feriicvol Yutrcll ol srourciel @2 Wl 3 ; PRI Bl @I 3rucil uic & freril
/ Fizemsii @ dta Jordi srferofierar 3 orcficiuct 3 arenm siredt 3

SURID PBecil @ 3Iciid H, ofid fou faascal 3 A I8 3az @1 wRIol Hifvie -
[Question ID = 1252][Question Description = S2_qSNz_PG_GP16_Q42]

. Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) @il 3@t 8 3ik (R), (A) &t 3dt =mezn 3 [Option ID = 5005]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) gl 3 & weaq (R), (A) &t 3 wme=n adf 8 [Option ID = 5006]
. Aiis correct but R is not correct/(A) 3t 8 weg (R) & ot & [Option ID = 5007]

. Ais not correct but R is correct/(A) 3@l o8 8 wsoq (R) 3@t 8 [Option ID = 5008]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil 2@t & 3z (R), (A) &l 3@ wmen 8 [Option ID = 5005]

38) Nalanda was established in
Sircicl I FeIruell @d g3 off ?

[Question ID = 1253][Question Description = S2_qSNz_PG_GP16_Q43]
1. 2" century/gadt erredi [Option ID = 5009]

2. 3rd century/dirst errect [Option ID = 5010]

3. 4t century/deft erredt [Option ID = 5011]

4. 5t century/uiadt orrect [Option ID = 5012]

Correct Answer :-



e 2" century/gast erd [Option ID = 5009]

39) Arrange the following states in descending order in terms of GER (Gross Enrollment Ratio) in higher education.
A. Tamil Nadu

B. Kerala

C. Uttarakhand

D. Sikkim

E. Himachal Pradesh

Choose the correct answer from the options given below

Jca foren 3 et oldicpet srglurd (it € 3mR) bl zfie A fowafiRaa sl @ RIS @t 3 ¥ :
A. aifircrong

B. @2

C. IRrEvs

D. Rifrma

E. fBumeer ggor

il fou s1e freseul 3 A I IR BT TI6Tl HIfSIE ©

[Question ID = 1254][Question Description = S2_qSNz_PG_GP16_Q44]

E, C [Option ID = 5013]
C, E [Option ID = 5014]
, A, C [Option ID = 5015]
C, B [Option ID = 5016]

A W N -

Correct Answer :-
e A B, D, E, C[Option ID = 5013]

40) 'Deemed to be University is established by

‘Stos farafdencr’ &t Fenuer faoads grr & sircdl 3 ?

[Question ID = 1255][Question Description = S2_qSNz_PG_GP16_Q45]

. An act of the Parliament/z3ieig @ sififorer grt [Option ID = 5017]

. An act of the state legislative assembly/3rse1 fderer 318 @ siféiforier gt [Option ID = 5018]

. A notification of the Central Government on advice of the UGC/z it 3ft. & el w Bog MRbR &t siféryaen grt [Option ID = 5019]

. A notification of the UGC on the advice of the State Government/3s IR®R &l Actis W i 6t siffRpaen grr [Option ID = 5020]

A w N =

Correct Answer :-
® An act of the Parliament/3iRic @ sifatforpr grt [Option ID = 5017]

Topic:- GP_24NOV_SH2_C

1) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.



forgotferfia srerior @ earoigda ug 3iiz gell & 3az &

SIIAIcAD A DI ARV AT 8Ic] D ASPIRI D 3MERIol A I3 8 [Pod HIAIHD I cPBRI YRID ASPIR D 018 gRIPID & 3MudI Ydern
MU A A A BHA AT UL JFAI 3 5 31 31ael AspRRI B e fOre RrasR &3 3R Uyt crasr of &3 <l goildl ag cucd aXdl 3 s
wafanf¥il ot fp2dl sirdon @1 Ygfdfa won usar 3 Siafts & oI sl 1ol A B2 2 3l 3 A6 FRARIPIRT siaoicar faRisifer waard 3 siiz a6
Farea & fore siforprR® 8 Amdl 3 @ot, der 3R AW Bl TR Mo A AT HIAIHD ABIol Bkl 3 3l FARP MolcaA® HU A ¢TSIl 3
HITGIICID fARIBI JSTeIcAD RisIiel & A6l 3, RIaRI 331 16 el feRisIfe Ridal @ SoIRI sitaoInsil A A il 3 gaidl ort
forcurce @ U Y g @ U I HIAGIHD 9JFT 3 HIdoII3il bl YRIFSIDdT Bl S Sl & HIAeIcdAD 9JF DRIl @ fere gfrenm Icucot
DA 3 MUDI VA TAIBI O AT DA DI USdI 8 3168 MU ferazet URis ofdl 8 3l ADI 3, MU Iold RAfebed DI uadl Aol 8 3l
A 3 o5 311U B Sirola 3t {5 3odlol smud dio WD ud> aR 3 oIBPRICHAD dIT Bl 3 $HD IS, Ul ASPIR DI WIfR MUDY ol bl B
1 forifdra smeR uR iR oofl usdl 3 safere smuwm! ddisira o1 fCarar oo usar & fadum:, Afe U HIaGII3il DI T3 HIdoII3il AT
Yool sraeIrsii 3 3IcIoT-31e1ol @2 AD dl IR IMMUDI UGl ASPIR I ASRIAT fIeT Tl 3 eIy HIGIY RIftp &I arafde e 3idt 3
sad faudlda, ygfdfa sirgomnd a diddl 3 Riod I vistoot fepdl orRI fady @ fére watenf¥=il gRI yeidfa fopu sirel &I sragm 3wadar 3 sz 308 3fra
oAl & d 3iafoifda sraoie o1&l 8l & ; d il o1 siraol Bl 3 Al YR &3 d A IUDIN livT Sloid 3 b sIRI =il caftp o siferer
dArpR 3 g3 yghdfa wzor &t srder &t sl 3, 9k & aa1 3 ARk Bl Fog DY U SIfeT ATl AT of Aol dAT Y- FARIE A Yool ot bt
e bl SIredl 3, 91t 8 9 YRIooldl YA b3 AT of DI 9N A GIfd 3 b BRI Ferell R s g 6 sl 3 15 89 ABIGRA: gaeordrn iR
ICATE SIA APRICHD HIAl DI Ygfdia woll anfdw qerr srI, dler, 8iiel 3R Ia9Tel SIA SIPRICHD HIdl DI SRId Boll aIfdy

The basic principle of emotional labour management is:

HIolIcAD 9 Yaierol I gfornel Rigia 3 :

[Question ID = 1256][Question Description = S2_qSNz_PG_GP16_Q46]

Be less hostile to other employees/ soer @wafarfseii @ yfer aa frgw 2xaam [Option ID = 5021]

Entertain only limited interaction within the organization/3isioe @ sfiaz @dact Mfdr sia:fipzn @won [Option ID = 5022]
Be polite to co-workers/Is®m[Rl @ yfer fdewy e [Option ID = 5023]

Do not show your frustrations/smsft @orsil @t yafsia of wzer [Option ID = 5024]

A WN -

Correct Answer :-
® Be less hostile to other employees/ s wafaif¥=it @ yfer war fagw e [Option ID = 5021]

2) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

forgotferfiac srerior @ earoigda ug 3iiz gell & a2 &

SIIAIcHAD A DI ARV AdI &Ic] D ASPIRI D 3MEMRIol A I3 8 [Pod HIAIHD I cPBHI YRID ASPIR D 610 gRIPID & 3MudI Yderm
MU A BH A BA AT UL JFATI 3 5 34 3rgel AspRRI B e fOre RrasR &3 3R Uyt crasr of 3 <l goildl ag cucd aXdl 3 s
wafanf¥il ot b2l sirdon @1 Ygfdfa wol usar 3 Siafs & oI sl 1ol A B2 2 3l 3 A6 FRARAPIRT siaoicar faRisifer waard 3 siiz a6
Farea & fore siforprR® 8 AAmdl 3 @ot, der 3R A Bl TR Mo A AT HIAIHD ABIol Bkl 3 3l FARP MelcaADd FU A ¢TSIl 3
HIGGIICID fARIBI JSelcA® [RRisIiel & A6 3, RIaRI 331 16 et feRisIfel Ridal @ SoIRT sitaeInsil A A€ skl 3 Yot ort
forcurcor @ v yga ace @ HU 3 HIGIcHD 9P 3 HTdonail bl YrRifSrpdr I s SIiar 3 HIdelcd® 9 danfil & fere gfden 3cucer
DA 3 MUDI VA AP D AT DA DI USdI & 3168 MU [erazet URiG ofdl ol 8 3l ADI 3, MU Iold RAfebed DI uadl Aol 8l 3l
Awdr 3 o5 311U B Silola 3t {5 3odlol smud tio WD ud> aR 3 oIBPRICHAD dIT Bl 3 $HD IS, Ul ASPIR DI FIfR MUDY ol bl B
12 forafdrd smeR uR sia:fRgRn ool usdl 3 safere snuwm! Jddisira o1 fCarar ool usar & fadumz, Afe U HIaGII3il DI T3 HIdoII3il AT
Yool sraeIrsii 3 3IcToT-31e1oT @2 AWM dl IR IMUDI UGl ASPIR I ASRIAT fIet Tl 3 eIy HITGIS RIftp &I arafie e 3Kdl 3
sad faudlda, ygfdla sirgomd a diddl 3 Riod @I st fepdl orRI fady @ fére watenf¥=il grRI yeldfa fopu sirel &I sragm 3wadar 3 3z 308 3k
Il & d 3iafoifda sraoI o1&l 8l & ; d il o1 siraole Bl 3 Al YR &3 3 A IUDII lIvT Sloid 3 b sIRI =il caftp o siferer
¥R d g3 yefdfa oo &l srisn &t sl 3, s1ct 8 ao 3A cafts Bl I3y BI Tp gifer Aol AT of Aol dAAT ANEI-IARIE I Yool ot bt
e bt SIredl 3, 91t 8 3 YRIooldl YA b3 AT of DI 9N A SIfd 3 b BRI Ferell R s sragn 6 siedl 3 o5 a9 ABIGRA: gaeordrn iR



AT SR APRICHD HIAl DI Ygffa ol anfdu qerr srI, @lel, Siiel 3R el SI SIPRICHD HIdl DI SRId Dol aIfsy

Within an organization, emotional dissonance affects
fop=il ioroa # siacicares faeieifa fopt yanfaa madl 3 ?

[Question ID = 1257][Question Description = S2_qSNz_PG_GP16_Q47]
1. Cognitive consonance /sl sigRsuar [Option ID = 5025]

2. Effective job performance/qsird! @rf forurger [Option ID = 5026]

3. Solutions to labour issues/gpt 3jgt @1 @menst [Option ID = 5027]

4. Constructive thinking/>deircares fRider [Option ID = 5028]

Correct Answer :-
e Cognitive consonance/=isieicd 3foReudr [Option ID = 5025]

3) Please read the passage and answer the following questions.

The concept of emotional labour emerged from studies of service jobs. But emotional labour is relevant to almost every job.
At the least, your managers expect you to be courteous, not hostile in your interactions with co-workers. The true
challenge arises when employees have to project one emotion while feeling another. This disparity is emotional dissonance,
and it can take a heavy toll. Bottled up feelings of frustration, anger, and resentment can eventually lead to emotional
exhaustion and burn out. Emotional dissonance is like cognitive dissonance, except that emotional dissonance concerns
feelings rather than thinking. It is from the increasing importance of emotional labour as a key component of effective job
performance that we have come to understand the relevance of emotion in every field.

Emotional labour creates dilemmas for employees. There are people with whom you have to work that you just plain do not
like. Maybe you consider their personality abrasive. Maybe you know they have said negative things about you behind your
back. Regardless, your job requires you to interact with these people on a regular basis. So you are forced to

feign friendliness. It can help you, on the job, especially if you separate emotions into felt or displayed emotions. Felt
emotions are an individual's actual emotions. In contrast, displayed emotions are those that the organisation requires workers
to show and considers appropriate in a given job. They are not innate; they are learned. Similarly, most of us know we are
expected to act sad at funerals, regardless of whether we consider the person's death a loss and to appear happy at
weddings even if we don't feel like celebrating. Research suggests that at workplaces, it is expected that we should
typically express positive emotions like happiness and excitement and suppress negative emotions like fear; anger; disgust
and contempt.

forgetferRaa srerior ol earegde ug SR Yool & 3R

HIAICHD A DI AAEMRUIT AT &I D ASPIRI D HERIoI A I 3 f[boq HIAIHD 9P PP YRAD ASPIR @ e yrifdie 3 smue! ydes
MU A A A DA AT UL WA 3 5 34 3rual AepBRI & 2rer forse RIasr &3 3R fRIguyYf cIaer o &3 J1cehl golldl ag cucd 3Xdl 3 s
pfanfRIl ol fpdl Hrdel ol yaidia ool usdr 3 Safs d IS g3l HIdel ABIIA D2 W BId & As faRieIf deicaAd feRisIia wacrdl 3 3R a8
AR D fe1U BIfolPR® Bl ADdl & @OT, MU 3R AW DI TRIA Il A idd: HIAEIIHD ADIol Bicil 8 312 RFTh HIdellcdD BU A ¢ Sl &
SIIdGIicHD fAiIfer Asielcs faRisIfar @ e &, Riart s3@ & sirdelrcare fisifar Rider @ asIRI siraonsil A Jdfera axdt 2 gandt ort
forsurGet @ U YA e @ FU I MIGeIcHD 9JF 3 HTdeIIsil Bl YrRIfSIasdr @) A3 SIIdl 3 MIdolicdd 9P wafani¥il & fore gfrenm 3cucast
DIAT S MUDI VA cllvll D AT PIA Dol USdl 3 f31os MU [craget uRic oél @l & 3l ADdI 3, 31U Iold RAfebed bl aadf Aloldd 8l X
Awdr 3 35 31U s Sirold 31 {5 3ozl smud i Wi 3uds aR 3 oIPRICHAD dKd Bdl 3 $AD TG, Ul ASPIR Bl FIR MUDY ol vl B
A1 forafdre smeR uR iR @ofl usdl 3 safere Ul Jddisira ol fwarar ol usar 8 fa9ume, Al MU HIGGIISl DI 3Tof3i HITGII3il AT
Yo il HIaeIIsil 3 3IcTaT-31c1el a2 AD dl SR MUDI Ul ASPIR 3 ABRIAT f3cT ADdl 3 o3 HIGGIU RAfTp Pl dRAfI® HIGeIU Bl &
s f[udia, ggidia srraeu d sl & 518 DI s1o0l il BRI fady o fere wafani¥=il Gr1 ygidia fipu sirer &t srdgn 2xar & 3iiz 3sa 3fkra
TSIl & d 3idfolfda sraeie o1él el & ; d Ml o1 sirgoie Bl & 3=2dl YR a1 3 A 3Iferpior clisT Siiold & b 3IRI fp=dl cafep @ siferr
Jiror i g yoldia et & srden &l st 3, 91cr 8t 3ot 3A cafes B e DI U gifel Aol AT of Aol 2T INEI-TARIE A Yool xTor BY
e <bl Sl 3, 91ct & 91 YRIooldl AP D3 AT of DI 9 UG S9Iid 3 b BRI Feredl R s g 6 Sl 3 b s ABMIGRIA: gRisoldr 3R
AT SR APRICHD HIAl DI Ygffa doll anfdu qerr srI, |lel, Sl iR HIIel S SIPRICHD HIdl DI SR Dol aIfsy

In a workplace environment, labour managers should give preference to:

DRI FUcT D AIAIERYI 3 9P Yderdl ®I fordatfcriRad 3 A vl grafdrman Soff anfdu ?

[Question ID = 1258][Question Description = S2_qSNz_PG_GP16_Q48]
1. Displayed emotions/ygfefa smraomaii @t [Option ID = 5029]

2. Felt emotions/ s sraoetiaii @t [Option ID = 5030]

3. Negative emotions/sprRIcH® siraasit @ [Option ID = 5031]

4. Expressions of frustrations/masii &t sifirafep @t [Option ID = 5032]

Correct Answer :-
e Displayed emotions/ygfsfa smaetrsii @t [Option ID = 5029]

4) Study the given table and answer the questions that follow

Given below is a table in which the total number of employees in different departments of an organization along with the



Male and Female ratio is given.

Regular Employees |Contractual Employees

DepartmentsTotal NumberRat]0 Total Number Ratio

M F F
IT 250 1 |1 240 2 1
lAccounts 123 2 11 130 3 2
HR 90 3 |2 (30 2 1
Marketing (350 5 |2 343 5 |2
Production (304 5 |3 |351 5 |4

fogotfeiRae srerior @l earegd® ug 3R Ygsil @ IR &

SIIAIcHAD A DI ARV AT &I D ASPIRI D 3MERIol A IR & [Pod HIAKHAD 9 PBRI YRID ASPIR D 018 gRIPID & 3MudT Yderm
3TU 3 BH A DA AG U WA 3 135 31U 3ruel Aswfil & Arer forse =Iasr a3 iR fIguyyf *rasrR of @ Frcdl golidl ad Icuoot 2kl 3 s/
wafanf¥il ot fp2dl sirdon @Y Ygffa wol usar 3 SIafs & B sl el AU B2 2B 3 3 A6 FARHBIRT sirdoicard faRisifer waardl 3 siiz a6
FareAa & fore sIfolpR® 8l Addl 3 @ot, DIer 3R AW Bl TR Mo A AT HIAIHD ABIol Bkl 3 32 AR HolcdAD HU A ¢T SIIAl 3
IAolIcIHD faRisIfel JsTIolcard fisifer @ eIme 3, Rrar s3d b siaeiicares faeisifer Rider @ as=IRI siraenasil A 6t akdl 3 gondt orf
forsurca @ U Y g @ U I HIAGIHD 9JFT 3 HIdoIN3il bl YRIFSIDdr Pl S SIIl & HIdeIcdA® 9JJ DIl @ fere gferem Ieusor
DA 3 MUDI VA B D AT DI D6 USdl & 3168 MU [Ierazet URiG ofdl = 8 3l ADI 3, MU Iold Afebed DI uadl Aol 8l 3l
Aol 3 {5 3mu AE Sirerd 31 {5 3osiel smud Wio Wid smuds an 3 SIPRICHD It Bl 3 5AD dIa9[S, U0l ASPIR Bl MR MUD! Sol bl &
1 forifdrd smeR uR sia:fgRn @l usdl & safere smuwm! ddisima o1 farar oo usar & fadum:, Afe U HIacII3il I T3 HIdGII3il AT
Yoot sraeIraii 3 3IcIoT-31e1oT 2 AD dl IR IMMUD! UG ASPIR 3 ASRIAT fIreT Trpedl 3 eIy HIGIY RIfp &t arafde e Jidl 3
s faudia, yehhia siraent a 3icl 3 fSred oIF Heroa fopfl orl 9y & fere wafanf¥il gr1 ycfdla fepu Siror &I srign @ 3 siik 3o kM
Aol & d siafeifda siraoi o1&l aicil & ; d il o1 siraonT Bicdl 3 3=l YR &3 d A S1ferpior el Sileid 3 b sRI =il caftp @ siferer
PR A g3 Ygidia ool bl g ol SIredl 8, 91ct 81 &I 3A Afth DI I DI U SIfel Aol AT of ATol AAT ISI-IARIE H Yool (6ol DI
U S DI SIIedl 3, 91cT 81 8 Yool AL D2 AT of DI 9NE A I 3 [ PRI Feuell Uz As USH Bl SIIcl & b & ATATeRIA: YRIooldl 3iiR
ICATE SIA APRICHD HIAl DI Ygiia ol anfdu qerm srI, dler, 8iisl 3R IaeTel SIA SIPRICHD HIdl DI SRId Dol aIfdy

Which of the following feelings one should feign at a workplace?
A. Fear

B. Excitement

C. Contempt

D. Happiness

Choose the correct answer from the options given below

@RI Fod uz el caftp @l foafciRaa 3 A dia 2 siracisil o1 f$amar o aifde ?
A. s=1

B. scars

C. 3mqeret

D. gR1coran

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 1259][Question Description = S2_qSNz_PG_GP16_Q49]

A and B only/d@act A 3iiz B [Option ID = 5033]
B and C only/dqet B sfiz C [Option ID = 5034]
C and D only/dsaet C siiz D [Option ID = 5035]
B and D only/dact B sfiz D [Option ID = 5036]

A W N -

Correct Answer :-
e A and B only/daet A siiz B [Option ID = 5033]

5) According to the passage, effective emotional labour management involves :

SN @ 3eRIR, YHIAT HIdollcAd 9 Ydeiol 3 o=l AfdaAfera siar & ?

[Question ID = 1260][Question Description = S2_qSNz_PG_GP16_Q50]
Acceptance of emotional dissonance/siqeiicare faRisifer &t Fdiriar [Option ID = 5037]

Free expression of feelings of frustration/@ort &t siraeisii &1 #ep sifdrefes [Option ID = 5038]
Display of friendly emotions/adiyuf siraoisit @t ygefor [Option ID = 5039]

Sidetracking the learned emotions/>fixdt 315 srraersit @t urd 9 22aom [Option ID = 5040]

A W N -



Correct Answer :-
® Acceptance of emotional dissonance/siraetcaa faisifer &bt >dfiarfar [Option ID = 5037]



